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Question Number : 1 Question Id : 802437901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Starting from the same point, two particles move along a circle of radius
10 m in opposite directions with speeds 5 m/s and 8 m/s. At the instant
of crossing each other, their speeds are interchanged but not their
directions. What would be the difference between their arrival times at

the starting point?

Options :
Os
8024373601.
3m
a8
8024373602.
13w
8
8024373603.
20
13w
8024373604.
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Question Number : 1 Question Id : 802437901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

0.5

UF 3 (6g | WS T & F0 0F 10 . BegT Frer 99 9% = o |
5 #1/& 7 8 H/F A AT T TAT 2| BF IH THA T T T TF AL T T
FOd 2 AT ST AAAT ATA-T5T AT 2, TIg fEeT T2 utys Sy e

ANTHA 97 SHET AHATTE a1 ZHm?

Options :

8024373601.

8024373602.

8024373603.

8024373604.

0.

20
13w

Question Number : 2 Question Id : 802437902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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In the given figures shaded areas are circles. Ratio of the unshaded

area in the square A to the unshaded area in the square B is

Options :
8024373605. 1:1

1:16
8024373606.

122
8024373607.

16:1
8024373608.

Question Number : 2 Question Id : 802437902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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RrmfETdgaEa a9 | TMAF AEFT a9 T 97 B &

TGTATEHT A FT AT 2
Options :
8024373605. 11
1:16
8024373606.
1.2
8024373607.
16:1
8024373608.

Question Number : 3 Question Id : 802437903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The equation x* + y* + 2x = 0 represents

Options :

Pathfinder Academy
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a parabola.

8024373609.
8024373610, & circle.

a pair of straight lines.
8024373611.

a hyperbola.
8024373612.

Question Number : 3 Question Id : 802437903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

THET x2 + y?2 +2x =0 TOATE
Options :

T ST Tl

]

8024373609.

T A
8024373610.

oo et 3 7w AT

8024373611.

T AT A

8024373612.
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Question Number : 4 Question Id : 802437904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

1
172}
] |
-1/2

Which of the following functions is represented by the given graph?

Options :
sin x
8024373613.
8024373614, sin 2x
SinXx cosx
8024373615.
sin? x
8024373616.

Question Number : 4 Question Id : 802437904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.5

1

1/2 }
-1/2
e 1 |

& o 9 FTeT A= T T e ' AT T 19T 2rav o7?

Options :
sin x
8024373613,
8024373614, SIn 2x
sinx cosx
8024373615.
sin? x
8024373616.

Question Number : 5 Question Id : 802437905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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In which of the following options is the amount of gold identical in the

two coins? (Pure gold is 24 carat)

Options :

24g coin of 22 carat and 22g coin of 24 carat
8024373617.

22g coin of 22 carat and 24g coin of 24 carat
8024373618.

2249 coin of 22 carat and 22g coin of 24 carat
8024373619.

24g coin of 22 carat and 24g coin of 24 carat
8024373620.

Question Number : 5 Question Id : 802437905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

= o Eeedt | 7 s 291 9t § A 60 "/ a9 22 (95 7T
24 FTZT FTEETE)

Options :

24 T 22 FI= FT 5T U5 22 UT 24 F9= 77 7

8024373617.

22 T 22 F¥= 5T T80T U9 24 UT 24 F9= 771 1

8024373618.
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22 T 22 F= FT 9T UF 22 UT 24 F92 7 FFwr

8024373619.

24 T 22 T T T80T UF 24 UT 24 F72 F7 FamT

8024373620.

Question Number : 6 Question Id : 802437906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The number of persons infected by a particular virus for the first 30
days was equal to the square of the number of days. After 30 days, the
number of infected persons doubled every 4 days. At the end of 50
days, 3,800 persons had died and on subtracting their number from
the total number of cases, the number of infected persons was found
to double every 5 days. After how many days of the onset of the

infection, did the number of infected persons become 4 lakh?

Options :
8024373621.

100
8024373622.

70
8024373623.

Pathfinder Academy
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80
8024373624

Question Number : 6 Question Id : 802437906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

et wETaTE & A AT AT i ', 9ger 30 R ¥, 79 F 99 % g9
oft| 1 =1 F 91g AwiET A 7 7T s 77 G= 0 § &7y 2 A
off| =T 12971 % ST, 3800 =T foreht qe g2, Sl HeAT T T2T7 &
TS, Teaw 5 AT & AwHa ATl a0 7247 &1 AT grat AT TFa 17 g
& Tohaw TaAT 978 A 9T AN 61 Tt 6797 4 F7F 31 127

Options :

90
8024373621.

100
8024373622,

70
8024373623.

80
8024373624

Question Number : 7 Question Id : 802437907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Of the employees of a company 60 are male and the rest are female.
The overall average salary is Rs. 9,000; the average for the female
employees is Rs. 12,000 and that of male employees is Rs. 7000. The
difference between the numbers of male and female employees is

Options :

30
8024373625.

10
8024373626.

20
8024373627

8024373628. 40

Question Number : 7 Question Id : 802437907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TF TETAT & FHAATAT § 60 THT AT qToT FIgaATT g1 THT FHATAT T
draT Fa= 9000 T g1 HigAT FHATLAT F1 e a7 12000 77 &7
TET FHATAT &1 AT 999 7000 77 Z| TET AT HigaAT HHATCAT i
T FT d=T7...... 2

A

Options :

Pathfinder Academy
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30
8024373625.

10
8024373626.

20
8024373627.

8024373628. 40

Question Number : 8 Question Id : 802437908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

o [

A E = B
In the given rectangle ABCD, AE=EF=FB. What is the ratio of the area
of triangle EFC to the area of rectangle ABCD?

Options :
8024373629.

1:6
8024373630.

Pathfinder Academy
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1:3
8024373631.

1:9
8024373632.

Question Number : 8 Question Id : 802437908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

B C

A : : B

%% 7 s ABCD ® AE=EF=FB. fr<{sf EFC % =% 7 &@d ABCD &

ST T AT FTE ?

Options :

1:8
8024373629.

1:6
8024373630.

1:3
8024373631.

1:9
8024373632.

Pathfinder Academy
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Question Number : 9 Question Id : 802437909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

An explorer starts from a place on the equator of the Earth, travels
1500 km towards the north, 500 km towards the east, then 1500 km

towards the south and finally 500 km towards the west. He ends at a

place

Options :

exactly where he started.
8024373633.

to the east of where he started.
8024373634,

to the south of where he started.
8024373635.
2024373636, to the west of where he started.

Question Number : 9 Question Id : 802437909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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T AT AT JEAT i qEeT waT 97 g G v 7 A iy w79,
1500 T Seav =T & S1aT 2, 76T 500 T 13 it A7 9797 2, Te9997q
1500 3T FF&roT ® S7aT 2 F &9 § 500 5T 75" #T A7 AT ATAT F
dq F Tg Tl g?

Options :

2V TET T AT A I ITAT AT FHiT A7
8024373633,

SET A AT ATAT A A AT SEE A A
8024373634,

SEl 7 A ATAT AT AT AT TF e 7
8024373635

TET & SHA ATAT AL 6 A7 7% TT |
8024373636.

Question Number : 10 Question Id : 802437910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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The probability that team A wins a match against team B is 2/3. If
teams A and B play 4 matches against each other, what is the
probability that team A will win at least one match? (Assume that result
of one match does not influence the rest.)

Options :

2/3
8024373637.

8024373638. 419

8024373639.

80/81
8024373640.

Question Number : 10 Question Id : 802437910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

& A it £ B & fAwg et =7t 1 Staw it arferewar 2/3 g1 az fw A
T 9 B % = 4 =TS gral g a1 219 A ST B/ & FH TF ETT SAad ol

Wﬁﬁr'ﬁﬁﬁ?ﬁj‘ﬁ"? (qa J.HGq % l_-lh':-f'J 'F'T?‘ﬁa’b_l' mt‘qﬂj F?Hﬂ Fq%]-fﬁ
T ol F2AT 2)

Options :

Pathfinder Academy
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2/3
8024373637.

8024373638. 49

8024373639.

80/81
8024373640,

Question Number : 11 Question Id : 802437911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Among the children of a family, each boy has as many brothers as
sisters but each girl has twice as many brothers as sisters. How many

boys and girls are there in the family?
Options :

3 boys, 2 girls
8024373641.

2 boys, 2 girls
8024373642.

4 boys, 3 girls
8024373643,

Pathfinder Academy
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4 boys, 2 girls
8024373644

Question Number : 11 Question Id : 802437911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TF TEATE % TGTH TAT AEH % 99 of |1E & [od=1 (4 Al 984 &
e oI ST & ATSAT &0 AT SEHT FgAl Al G i SAET 21 T
T § o a5 9 A AT 27

Options :

3 @E%, 2 AS AT

8024373641.

2 9%, 2 A HAT

8024373642.

4 EH, 3 ASTHAT

8024373643.

4 AEF, 2 AEEHAT

8024373644.

Question Number : 12 Question Id : 802437912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy
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A student obtains 59, 60, 69 and 81% marks in 4 courses carrying
weights in the proportion 4:3:2:2, respectively. The following table
gives conversion of marks to grade points. What will be the Grade

Point Average of the student?

% marks | Grade Point
>89 9

80-89 8

70-79 7

60-69 6

5

0

50-59

<50

Options :

8024373645. 6.0

8024373646.

T
8024373647,

FdEs
8024373648.

Pathfinder Academy
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Question Number : 12 Question Id : 802437912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

e Eameft 4 ot § 59, 60, 69 TE 81% I UTH FvAT 2 o= T 977 w7 9r:

L]
4:3:2:2 % FTT | | FFI FT TS =T F TAAT ATCAHT & ATATT 2
=T &7 | q 9% == #4727
% marks (%) | Grade Point (= =T22)
>89 9
80-89 8
70-79 7
60-69 6
50-59 5
<50 0
Options :
s024373645, OO
8024373646, 02
7.0
8024373647,

Pathfinder Academy
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FdEs
8024373648.

Question Number : 13 Question Id : 802437913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Hollow open-ended cylinders are made in two sizes, 1000 cm? and
250cm3 , using a metal sheet. The amount of material required to make

the larger cylinder and the amount required to make four small

cylinders

Options :

have to be the same.
8024373649.

are always in the ratio of 1:2.
8024373650.

can be the same.
8024373651.

are always in the ratio of 1: 4.
8024373652.

Question Number : 13 Question Id : 802437913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy
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AT, ETH1 (920 & ol a9 &l 7797 (1000 FHTS 47 250 7H13) § T& o979
T TEL T A T E| TH 1000 FHS Hq: (AATCH) AFTH qTA FTAT Bl
AT H T JTel T&TH 0 JIET &6 G471 ¥ 250 FHR & (Fqresw) araaq
% 4 I § T TN TATH T {qTEAT

Options :
H9TT T TTHTT =0T |
8024373649. i : %
THIT 1:2 & AT F ZAIT |
8024373650.
T ZT TFAT 2 |
8024373651,
HOT1: 4 F AT H 2 |
8024373652. o = i

Question Number : 14 Question Id : 802437914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy
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D

An equilateral triangle APB is constructed on side AB of the square
ABCD having a side of 1 unit. What is the radius of the circle passing
through points C,P and D?

Options :

8024373653.

8024373654.

8024373655.

\3/2
8024373656.

Question Number : 14 Question Id : 802437914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy
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D":-._._,_.-'-"

TE AHETE S APB UF THIE ST AT 39 ABCD #T =T AB T¥

FATAT 7T 2| g C, P, 747 D 7 oA A1 g7 ¥ e et 22

Options :

8024373653.

8024373654.

8024373655.

\3/2
8024373656.

Question Number : 15 Question Id : 802437915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If 7is an even number, then the sum of the first 7 natural numbers is
divisible by

Options :

Pathfinder Academy
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both nand (m+1)
8024373657.

n but not (n+1)
8024373658.

(m+1) but not 17
8024373659.

neither (/#+1) nor n
8024373660.

Question Number : 15 Question Id : 802437915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

IE N TF TF 4T 2, T AT 0 IO 7 0T (=977 2

Options :

nTE (+1) T A

8024373657.

N T (n+1) T TET

8024373658.

(1) T T5q N T T
8024373659.

ATAT (1) FATE NF

8024373660.

Pathfinder Academy
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Question Number : 16 Question Id : 802437916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

S| @eb0

| #%e
= " .
E I"J
=

Precipitation —

The bubble plot shows an effect of temperature and precipitation on
annual growth of trees of a certain species. The area of a bubble is
proportional to the tree-growth. Based on the plot,

the growth of the trees is

Options :

directly proportional to both precipitation and temperature.
8024373661.

directly proportional to precipitation but inversely proportional to

temperature.
8024373662.

inversely proportional to precipitation but directly proportional to

temperature.
8024373663.

Pathfinder Academy
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inversely proportional to both precipitation and temperature.
8024373664. £ e P P P

Question Number : 16 Question Id : 802437916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Il Cge

< .c:

S| @
ot g -
E s %
k3]

Precipitation ——

TF AT WA & 9E1 &1 AT 15 T7 G199 (Temperature)  T99TH
(Precipitation) FT THT=, F[EE@T (T59) =i F TATAT T4T | FJALA T
HAHA IT T g5 HT ARTIIATAT 2| TAE 5 A& T2 IS 0f 15 & =99 F
eToad § 7 F19-97 95y ST 91 795471 272

T 1 A

Options :

TUTHTA T4T ATTHATT 1 & T 2

8024373661.

TATHTT & TATIAET g Toheq ATTHT & A ATl 2

8024373662.

Pathfinder Academy
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TITHIT & AT 2 g aTT9T &% T9H AT 2

8024373663.

TITHTH TAT ATTHIT &1 F (FATHTAAT 2

8024373664.

Question Number : 17 Question Id : 802437917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

4 S0 55 60 65 70 75
Weight (kg)

The probability distribution of weights of a certain population is normal

as shown in the figure. What is the probability that the weight of a

person picked at random is more than 60 kg?
Options :

1/2
8024373665,

Pathfinder Academy
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8024373666.

8024373667. 23

1/3
8024373668.

Question Number : 17 Question Id : 802437917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Weight (kg)

=TFAT % FTT T ATAEAT 529 (=97 § T907T9 AGATE TATHTT 21 & T =t
FT {59 argf=gF =9 T A7 31, 3% 917 60 FFr & afars g 7 =

ITTEAT 8 7

Options :

Pathfinder Academy
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1/2

8024373665.
1
8024373666.
2/3
8024373667.
1/3
8024373668.

Question Number : 18 Question Id : 802437918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A clock takes 7 seconds to announce 7 o'clock by chiming seven
times. How many seconds will this clock take to announce 10 o’clock

by chiming 10 times?

Options :

10
8024373669.

9.5
8024373670.

10.5
8024373671.
8024373672.

Pathfinder Academy
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Question Number : 18 Question Id : 802437918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TH TET 7 TOF D1 SHIT 7 T ST AT &7 7 q%€ | Fwedl gl TJgr F87 10
T FT SEMT10 17 =& TT F7 F94 | oA T awmafi?

Options :

10
8024373669.

9.5
8024373670.
8024373671. 10.5

11
8024373672.

Question Number : 19 Question Id : 802437919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy
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There are several boulders of three types of rocks A, B and C. Each
boulder of A, B and C weighs 600 kg, 300 kg and 80 kg, respectively.
Each boulder of A is 8 times as valuable as that of C. Each boulder of
B is 3 times as valuable as that of C. Which of the following
combinations that can be carried using a truck of 4000 kg capacity,

would be the most valuable?

Options :

6 boulders of A and 1 boulder each of B and C
8024373673.

6 boulders of A, none of B and 5 boulders of C
8024373674.

5 boulders of A, 2 boulders of B and 5 boulders of C
8024373675.

5 boulders of A, none of B and 12 boulders of C
8024373676.

Question Number : 19 Question Id : 802437919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy
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7 v T FZEr A, B 74T C F 797 {9=mgs 1 A, B 7F C F vAF
forerTa= =7 9T FHer: 600 T, 300 BT vF 80 T 21 A 7 weAT foraras

C % T foraras & 8 AT Fwar g1 B F7 g7 foreras C F v foemas 7
f7 = Tt 81 = T = AeAt 9 S9-A /9T =T goaare
0T AT % 7w 4000 FFFUT oA T1 T F F |79 AT a9

Options :

A= 6 Toemas 7 B 7H C =% &7 1 f9=mas
8024373673.

A% 6 foamae 7 B #1 &l A5l va C % 5 foramas
8024373674.

AF5ToemEae 3 B # 2 foramas 7 C # 5 fomas
8024373675.

AF5T9emEs T B FT &I A1 U4 C & 12 {9remas
8024373676. '

Question Number : 20 Question Id : 802437920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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The graph shows daylight hour variations with months at two latitudes

L1 and Lo. Which one of the following can be true?
Options :

Lyis 40°N and M1 is June
8024373677.

Lyis 40°S and M, is June
8024373678.

L2 is 40° S and M2 is June
8024373679.

L2 is 40° N and Mz is December
8024373680.

Question Number : 20 Question Id : 802437920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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T | &T AT Ly T4T Ly 77 &7 F 70919 =21 FT HgIA1 o6 AATE T A
FT 7T 21 AEtertEa | | FI-AT #7949 79 g Awar 22
Options :

L1 40°SAT 2T M1 2

8024373677.

L1 40°=femr E vd My 97 2

8024373678.

Lo 40° =femr 2 7H Mo 97 2

8024373679.

Lo 40° ST e ma Mo Tem=aw €
8024373680.
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Part B Life Sciences

Section Id : 80243723
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 35
Section Marks : 70

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 80243737
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 802437921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A plot with which one of the following axes is drawn to exhibit
enzyme inhibition kinetics applying Dixon’s plot?

Options :

V; vs [1]
8024373681.

Vs =

i H
8024373682.

1

—pS§ |I

- vs 1]
8024373683.
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1
V: vs —
T m
8024373684.

Question Number : 21 Question Id : 802437921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT -7 UF 99 TFT A5d AT o6 TATSH TEHT TATAET Bl

Options :

V; vs [1]
8024373681.

Lyst

W i
8024373682.

1

— vs |l

s [1]
8024373683.

1

V; vs —

T m
8024373684.

Question Number : 22 Question Id : 802437922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which one of the following enzymes present in erythrocytes helps
bypass the first step of ATP formation in glycolysis?

Options :
Bisphosphoglycerate mutase
8024373685.
Phosphoglycerate kinase
8024373686.
Glyceraldehyde 3-phosphate dehydrogenase
8024373687.
Phosphofructose mutase
8024373688.

Question Number : 22 Question Id : 802437922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

?ﬁl‘dl'ﬂ\‘-‘rﬁ H ST i & a1 T THATEH TATEEITe § ATP

9T & WOF 90T Ff STHAN A7 Hahe+ § Tgm=ar 7907 27
Options :

8024373685.

8024373686.
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RAAICEEIEs 3- WIFhe RgrEaia-d
8024373687.

FTERTRFETS 2w
8024373688.

Question Number : 23 Question Id : 802437923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If the pyrollidine ring of proline is reduced to a linear form, the
new amino acid will have

Options :

constrained ¢ than proline
8024373689.

constrained v than proline
8024373690.

relaxed ¢ than proline
8024373691.

unaffected ¢ and v
8024373692.

Question Number : 23 Question Id : 802437923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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TS WA T TS Ta9 UF 100% AT § a5 g A0 a1 T

FHAT FFe § ZATT
Options :
T T ATHAT =95 0
8024373689.
TTATT T T99T =955 v
8024373690.
gt T e =T o
8024373691.
Fafvarad ¢ 9T v
8024373692.

Question Number : 24 Question Id : 802437924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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The following table lists names of scientists and advances made

by them
Column A Column B
A | Linus Pauling (i) Myoglobin structure
B Emil Fischer (Ei) Model of a-helix
C | John Kendrew (iii) | Lock and Key model
D | Christian Anfinsen (iv) | Sequence-structure
relationship

Which one of the following options correctly matches contents of
column A with column B?

Options :

A — (iii); B = (iv); C — (ii); D — (i)
8024373693.

A — (ii); B — (iii); C — (i); D = (iv)
8024373694.

A — (ii); B = (i): C — (iii); D = (iv)
8024373695.

A — (i): B = (iii); C — (ii); D = (iv)
8024373696.

Question Number : 24 Question Id : 802437924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.5

fAeita |aeoft asaEt & 979 U 9% ASTHE AREEl B qH6s

AT
FHAH A F1a9 B
A | ST AT (i) ATAEATTS Hf 77T
B | wfeer fhee () | o=t = ameT
C | o F5g (iii) | erfereier wa T AT
D | ferfesas matE=m (V) | SgFe-Aea=T §ad

ReTtea #1997 TF FeT Fiaq A & J9991 77 ’3@' T Fi9H B &
AT F7AT 27
Options :

A = (iii); B = (iv); C = (ii); D = (i)
8024373693.

A — (ii): B — (iii); C = (i): D = (iv)
8024373694.

A — (ii); B = (i); C — (iii); D = (iv)
8024373695.

A = (i); B = (iii); C = (ii); D = (iv)
8024373696.

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



Question Number : 25 Question Id : 802437925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Electron transfer from donors such as NADH and FADH2 to O2
occurs in

Options :

membranes of ER, chloroplast and mitochondria
8024373697.

chloroplast only
8024373698.

mitochondria only
8024373699.

organellar membranes which possess ATP synthase
8024373700.

Question Number : 25 Question Id : 802437925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TAFZIA FT TATATACO aTarar o+ 7 NADH 7= FADH2 & O2

Options :

ER & f5ree(l, FALATE TF AT AT
8024373697,

Pathfinder Academy
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FTT FATLATES

8024373698.

FaeT HTZ2rHT5aT
8024373699.

TGN 7 Terea =y fors ATP Freast grar 2
8024373700.

Question Number : 26 Question Id : 802437926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Genome of an organism was analysed by Cot curve analysis.
Highly repeated sequences represented 30% of the total genome
fraction. The Cot value of the highly repeated sequence was found
to be 0.001 moles nucleotide liter’. What would be the actual Cot
value (in moles nucleotide liter") of the highly repeated sequence?

Options :

8024373701. 0.008

0.001
8024373702.

0.0003
8024373703.

0.007
8024373704,
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Question Number : 26 Question Id : 802437926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T ST % TS 7 (9T Cot FF AT 14T AT T57 TAT19d1 AqaH
Tl SAM F9T F 30% FT TAHET T9am gl T=F TAraa! STqwmal a7

.

Cot 7= 0.001 HToA ATFAATIIZS A 127 AT TT| T=7 TALTAT SAHH

FT AT Cot T (WTeH =L+ a1212S @127 /) FIT T2

Options :

0.003
8024373701,

0.001
8024373702,

8024373703. hades

8024373704. 0.007

Question Number : 27 Question Id : 802437927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the statements given below is INCORRECT?

Options :

Pathfinder Academy
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The three common types of membrane lipids are cholesterol,
phospholipids and glycolipids.

8024373705.
Phosphoglycerides carry a glycerol backbone, two fatty acid
chains, and a phosphorylated alcohol.
8024373706.
Most phospholipids and glycolipids form bimolecular sheets
rather than micelles in aqueous media.
8024373707.
The common alcohol moieties in phosphoglycerides are
glycerol, inositol, choline, ethanclamine and tyrosine.
8024373708.

Question Number : 27 Question Id : 802437927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

it T = = °7 vF FuT T 22

Options :
Eﬁ_"l' HiHIH HﬂhH-T %l" i.rah*q-"“ Hliaé' 5?1(\-"]:?:1@, 1T Tﬂ@lia‘é T!EI'
= - Ec E u-Eu %l

8024373705.
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FTERAA FLTES 1 § U T AT 118, &1 T6T JF JFAT 4T TF

HTERTFT Teshiga 21T 2l

8024373706.
e/ a=Tdt g, 7 & ffaem)

8024373707.
FTERTIARTIZE] | ATHT Aehlgd A9T TAavre, AT,
FATH, TAATATHA TAT I 2

8024373708.

Question Number : 28 Question Id : 802437928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The translocation into which one of the organelles listed below
DOES NOT depend on an amino acid sequence as a signal for

import?
Options :
Nucleus
8024373709.
Endoplasmic reticulum
8024373710.
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Lysosome
8024373711.

Peroxisome
8024373712.

Question Number : 28 Question Id : 802437928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Rt o U FIT § S UF FH A AT ARA & U
AT TFF TT AT qg1 Hwar 22

Options :

FET

8024373709.

+ ™ [
Aag=T AT

8024373710
ATZHTATT (FTFFTT)
8024373711.
) ™ ™
TCATFHTHTH
8024373712.

Question Number : 29 Question Id : 802437929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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In Trypanosoma, some of the introns generate Y shaped structure
in place of a lariat. Such structure is generated during
Options :
cis-splicing
8024373713.

trans-splicing
8024373714

alternate splicing
8024373715.

RNA editing
8024373716.

Question Number : 29 Question Id : 802437929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Friararar ¥ T T AT ¥ e Y T Y v I 2
T T T I F S Wi gEr E:

Options :

T THET
8024373713.

EREECEEC]
8024373714.
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8024373715.

RNA #+F15+
8024373716.

Question Number : 30 Question Id : 802437930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following ensures stable binding of RNA
polymerase at the promoter site?
Options :

DNA photolyase
8024373717.

Sigma factor
8024373718.

DNA glycosylase
8024373719.

Rec A
8024373720.

Question Number : 30 Question Id : 802437930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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=it ®9 A7 7% RNA T8 &7 THE7 &9 97 797 999 77
AT Fear 2?

Options :

DNA ®Er=irs
8024373717.

T T2 %
8024373718.

DNA Tz o
8024373719.

Rec A (¥& A)
8024373720.

Question Number : 31 Question Id : 802437931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Erythromycin is an inhibitor of protein synthesis. It acts by:

Options :
binding to 30S subunit of bacterial ribosome, thus inhibiting
binding of aminoacyl — tRNAs.

8024373721.
binding to 50S subunit of bacterial ribosome, thus inhibiting
translocation.

8024373722.

Pathfinder Academy
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Pathfinder Academy

inhibits peptidyl transferase activity of eukaryotic 60S

ribosomal subunit.
8024373723.

causes premature chain termination by acting as an analog

of aminoacyl-tRNA in both prokaryotes and eukaryotes.
8024373724.

Question Number : 31 Question Id : 802437931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
TIATHTE T IeaTa ITAT FT UF J59F gl 98 A% 51T &9

FAT 2

Options :
ST TEAEE F 30S ST UEE # S9AT 2, A7 THTLAT
— tRNAs & T&H FT Fa7119F F2aT 2|

8024373721.
ST T2 % 50S S7 UF T F&4T g, AT TATHE0 Hil
FFTNTT F7aT 2l

8024373722.
Mooz 1 % 60S TG 3T THF F TETZe ZHITH
TToT T TS0 F747 2

8024373723. :
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AT, TAavaa i UF Taegd a1 § T TArEAmaa-tRNA F 9997
STHT &TH F7a AT GFAT THTIA FT FH10F I7497 2

8024373724.

Question Number : 32 Question Id : 802437932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following conditions will switch on Lac operon in
E. coli ?

Options :

+ Glucose, + Lactose
8024373725.

+ Glucose, - Lactose

8024373726.
- Glucose, - Lactose
8024373727.
- Glucose, + Lactose
8024373728.

Question Number : 32 Question Id : 802437932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

it & | U&F T Ecoll ® Lac WHETA® (ATIEE) @I
TS/ T2
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Options :

8024373725

+ Ic‘jﬁ;!ﬁ , - (?IEFE-IH
8024373726
8024373727. - -

- 3*&1 Eﬁlﬁ, oy ';Lal EF?:1 E
8024373728

Question Number : 33 Question Id : 802437933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The immunoglobulin heavy-chain that is rearranged first and is

displayed on the surface of early stages of B-cell development is

associated with:

Options :
class-ll associated invariant chain peptide (CLIP).
8024373729.
a surrogate light chain.
8024373730.
p2 — macroglobulin.
8024373731.

Pathfinder Academy
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immunoglobulin-like cell adhesion molecule.
8024373732.

Question Number : 33 Question Id : 802437933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TTATATRATSA TN [6-A@daT |7 (o Ta99q [Ha-raq grafl g 79 B-
FITOTT (AT & AT J201 § T3 97 Y&rq g g, Ig Fqaraa gram

3.
Q.

Options :

-1 | FETerT He=Fw gaar 7=z (CLIP)
8024373729.

TF HLRE AL GaAT
8024373730.

S = = —

P2 — EEIECIEE
8024373731.

AT AT TS oI - ST FITTT ATH T ]
8024373732.

Question Number : 34 Question Id : 802437934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Given below are plots that show changing titres of natural Kkiller
cells (NK cells), cytotoxic T-lymphocytes specific to the virus
(virus-specific CTLs) and interferon a/ during a virus infection.

{increasing titres)

r ",.rL =
b et YIRLS TITRES

0 4 8 12
Days after virus infeclion ————

With respect to changing virus titers, select the plots that represent
these factors correctly from the options given below.

Options :

A: Interferon; B: virus-specific CTLs; C: NK cells.
8024373733.

A: NK cells; B: Interferon; C: virus-specific CTLs.
8024373734

A: Interferon; B: NK cells; C: virus-specific CTLs
8024373735.

A: virus-specific CTLs; B: Interferon; C: NK cells.
8024373736.
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Question Number : 34 Question Id : 802437934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

it areg v ooy F S % S TR s 9w wrrerEwrar (NK
FAHIE) & TaAd g0 AGATT, Taaro] F=forse e T-as iy
(Frmmoy f&fares CTLs) 79T =742 o/f FT 349 2

{increasing titres)

L

it

R4 S TITRE
P s VIRUS TITRES

0 4 8 12
Days after virus infection ————

TAoT] % F=ed g1 AGHEIIE & HEq H, T AT B AT Fe AT A
TEia Aol | & Z7 FTH B Aol AL0H F 94T 2l

Options :

A: =T, B: fam-fAferss CTLs; C: NK FiersT
8024373733.

A: NK =T8T B: T2v%e; C: Humo-fafaresz CTLs
8024373734.
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A: TZTRLE; B: NK &iersTT: C: FEamp-fafers= CTLs

8024373735.

A: Fam-fEferss CTLs; B: T2v%ei; C: NK &t

8024373736.

Question Number : 35 Question Id : 802437935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Dr. Ralph M. Steinman was awarded Nobel Prize for his
discovery on:

Options :

acquired immunological tolerance.
8024373737.

role of major histocompatibility complex in antigen

recognition by T-cells
8024373738.

chemical structure of antibody
8024373739.

role of dendritic cells in adaptive immunity
8024373740.

Question Number : 35 Question Id : 802437935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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TT. 7T TH. FEAHA ®T IA% TH DA & (17 A6 [TeaTe T 1T

=T
Options :
8024373737.
T-HITAHTAT & FTET T TgATH A q2T Sasadareadr areqs &
8024373738
giaeft F71 TTETEtE JT=
8024373739.
STETEIE% HIFHTAT T ATAT ATALAT H qIHET
8024373740.

Question Number : 36 Question Id : 802437936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following systems forms a chemical mediator that
is involved in the mechanism of pain during inflammation?

Options :

Activated blood clotting cascade
8024373741.

Plasmin — Fibrinolytic system
8024373742.
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Kininogen — Bradykinin system
8024373743,

B-cell activation
8024373744,

Question Number : 36 Question Id : 802437936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

R Fie &1 T IO T T T FETe AT § S 16 97 Fie0em
% BT T2 & (AT | ATHT 572
Options :

8024373741.

AT — FTEEA AT % T
8024373742,

FTE AT — FTS T2 T

8024373743

B-TTT9T5T 7 AT

8024373744.

Question Number : 37 Question Id : 802437937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Human polysyndactyly (joining of extra digits) syndrome
results from a homozygous mutation at

Options :

antennapedia complex locus
8024373745,

one of the genes of Hox D
8024373746.

one of the genes of Hox C
8024373747.

B-catenin locus
8024373748,

Question Number : 37 Question Id : 802437937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

o TR (4fA R Gy T ) P e

-y

THLIAST ST &7 T 2
Options :
8024373745.

Hox D =T F1E T% S
8024373746.
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Hox C =T FTE T& HiH
8024373747.

B-Ffa e

8024373748.

Question Number : 38 Question Id : 802437938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements regarding double
fertilization in plants is correct?

Options :

The same sperm cell fuses with both egg cell and

2024373749 central cell.

Two sperm cells fuse with the egg cell.
8024373750.

One sperm cell fuses with the egg cell and second with

2024373751, the central cell.

Two sperm cells fuse with the central cell.
8024373752.

Question Number : 38 Question Id : 802437938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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el § BEEE F #7eT § FeitEa w97 vE w9 a9y 27

Options :
THT STRT] FIT9TaT ST FITTT T Fwa (T FHIQT &A1 o AT
ZraT 2
8024373749.
8024373750.
5 ST T HIT9TEhT ST FITSTHT F IS ZraT g TAT (51T Fvald
FITIFT % AT
8024373751.
=T YERTO] FTTIRTT e 1 FHITVRT & FAfrd gIaT gl
8024373752. i

Question Number : 39 Question Id : 802437939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements regarding amphibian
development is correct?

Options :
The Nieuwkoop centre is formed on the dorsal side of the
embryo due to accumulation of g-catenin which helps
activate the siamois and twin genes

8024373753.
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The ectodermal cells form neural tissues in the presence of

BMP molecules.
8024373754,

Brain formation requires the activation of both Wnt and BMP

pathway.
8024373755.

There is a gradient of Nodal-related protein across the
endoderm with low concentration on the dorsal side of the

embryo
8024373756.

Question Number : 39 Question Id : 802437939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

SHAFEN F =S & A5H § HEohd &l a7 TF F99 A8 27

Options :

B-FEA & 999 |7 W &% [FI7H1E9 (siamois) T 237 (twin)
STHT &7 TT0T Fee § TgTEaT Hieal &, & T =TT 5rg

(Nieuwkoopcentre) &T THHTIT g7 & T51F 7 7% 147 2|
8024373753.

BMP &[T 1 ST B FEo=ed7 S0 ST Sas AT

Z
8024373754.
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qiFtaew % 8T § Wnt 727 BMP =191 & |97 6 AraeTsmar

2T 2

8024373755. i %
AT TAT & AT-TTY TF ATSA — T TAT TIET 3 TT009aT 2t 2
SR B B e A 2 B K e R e M T A e ]

8024373756. : il

Question Number : 40 Question Id : 802437940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Sonic hedgehog (Shh) specifies the anterior-posterior axis during
limb development. Which one of the following statements regarding
it is correct?

Options :
Shh secreting cells undergo apoptosis after performing its
function.

8024373757.
Descendants of Shh secreting cells become the bone and
muscle of the anterior limb

8024373758.
When the genes for Shh and G/i3 are conditionally knocked
out in the mouse limb, the resulting limbs do not form any
digit

8024373759.
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Specification of the digit is primarily dependent on the
amount of time the Shh gene is expressed and to a small
extent on the concentration of the Shh protein that other cells

recejve.
8024373760.

Question Number : 40 Question Id : 802437940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT AT (Shh) TT&T 3 =7 & F09 JI-799 94 HT =Fotuq Fwedr
21 T A= # il &9 97 vF w99 g5 2?

Options :
Shh T FTET Fod TTAT FHIAHTT ATAT FTF F0 & 7179
FTEAFHTS T 7 (apoptosis) H T=¢T FedT 2l
8024373757.
Shh =T FTI T2 ATAT FAAHTAT 1 AT AT TS ATEAAT TH
HTETTET & STAT 2
8024373758.
99 Shh U= G/i3 F =7 & qgT o &1 § TATAA= Hraq oar
STAT g A7 T T 75 (A1 AT 7 HHI07 951 Fedl gl
8024373759.
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gapferat w1 FAfafEwe gemaar Shh 5= * Afd=afw & 7o 999

FTA T¥ ATETT ZAT 2, TAT ¥ =7 7 Shh &= &t 7647 &
ST TR g7 & ST o= FIfSThT0 9o F:7dT 2

8024373760.

Question Number : 41 Question Id : 802437941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Spermidine represents which of the following group of

compounds:
Options :
jasmonic acid
8024373761.
polyamine
8024373762.
8024373763, XN
strigolactone
8024373764

Question Number : 41 Question Id : 802437941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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TTHIEE (Spermidine) WHTToa d AHE & ARSI &1 Aa=TE0T

T 37
Options :
8024373761.
- (ﬁ T =
8024373762.
8024373763.
;-‘d- T ‘:.- -
8024373764.

Question Number : 42 Question Id : 802437942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Suppression of VPE (Vascular Processing Enzymes) gene
expression in Nicotiana benthamiana plants will NOT

Options :

abolish hypersensitive response
8024373765.

enhance TMV (Tobacco Mosaic Virus) infection
8024373766.
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reduce caspase-like activity
8024373767.

reduce DNA fragmentation
8024373768.

Question Number : 42 Question Id : 802437942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT S=ATHAT (Nicotiana benthamiana) wtat VPE (FagHt
THHI TeATSH) S 61 ATH=ATE HT T(HT Fed 7 I8 A81 ZH:

Options :

g aaa e ST =T AT 27 JET

8024373765.

TMV (FaTg fErTe-fFam a1 Zresr /ot J129d) &7 %97 98

8024373766.

FETH-SH TIHAT T FH ZT AT

8024373767.

DNA &= &1 %5 g1 JAT
8024373768.

Question Number : 43 Question Id : 802437943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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In which one of the following subcellular organelles is serine
synthesized during the oxidative photosynthetic carbon (C»)
pathway?

Options :

Chloroplast
8024373769.

Mitochondria

8024373770.

Peroxisome
8024373771.

Rough endoplasmic reticulum
8024373772.

Question Number : 43 Question Id : 802437943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT TR TFT9T FeorST F199 (Co) T F 39 =g &Fa 7%
FIHITHIT FITHIT F LT T FATT ZIaT 272

Options :

8024373769.

8024373770.
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A A H

8024373771.

T FqZ=AT SATTeTaT

8024373772.

Question Number : 44 Question Id : 802437944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Artemisinin and Dhurrin belong to which two respective groups of
the plant natural compounds?

Options :

Alkaloids and Terpenes
8024373773.
2024373774, Flavonoids and Alkaloids

Cynogenic glycosides and Flavonoids
8024373775.

Terpenes and Cynogenic glycosides
8024373776.

Question Number : 44 Question Id : 802437944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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AT (Artemisinin) 41 I (Dhurrin) &Rer; ST
TS TTET ATHT & o6 &l THET o Fa18T 872
Options :

TTHATISH TAT 270w

8024373773.

| "p\?\ H-Eq-r __](r < R

8024373774.

ATZATS (AR TATSHTATZZT TAT FAAATOEH

8024373775.

o

U TAT ATZATSA (A% TATS R ATSEH

8024373776.

Question Number : 45 Question Id : 802437945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Receptor for which one of the following proteins spans the plasma

membrane of target cells but DOES NOTcontain intrinsic protein

kinase activity?

Options :

Epidermal growth factor
8024373777

Insulin
8024373778.
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Insulin like growth factor
8024373779.

Growth hormone
8024373780.

Question Number : 45 Question Id : 802437945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

e 21T 2 T SO A2 WA Freas Fearefiear ag1 2T

2?7
Options :
8024373777.
Es Ukl
8024373778.
T A-T59 Iz T
8024373779.
I grame
8024373780.

Question Number : 46 Question Id : 802437946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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In both males and females, the gonads secrete a polypeptide
hormone, called inhibin B, which inhibits
Options :

luteinizing hormone
8024373781.

follicle-stimulating hormone
8024373782.

prolactin
8024373783.

thyroid-stimulating hormone
8024373784

Question Number : 46 Question Id : 802437946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

7]

Y U HIET §F1 |, TAAUAAT TF TATT2Z1ES gTHE &1 979 Fa1

5 =T B (inhibin B) #24 2, 8 97 #7241 &

Options :

fatai®e (luteinizing) A
8024373781.

T=F TEITE ZIHA
8024373782.
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=y

8024373783.

ATATTTS -T2 TF ZTH
8024373784,

Question Number : 47 Question Id : 802437947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following routes is responsible for maximum
amount of body heat loss in humans at an ambient temperature of

21502

Options :

Radiation and conduction
8024373785.

Respiration
8024373786.

Urination and defecation
8024373787.

Vaporization of sweat
8024373788.

Question Number : 47 Question Id : 802437947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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=T 9 & F19 7 TF TI/F7F 999 § UF Tt JrE 21°C
T TS HTAT H T ATTHIH & g & (o7 Seqvardl 27

Options :

TETheoT T47 7o

8024373785

A A
8024373786.

7 e 747 7 s

8024373787

TH I FT FTO T

8024373788

Question Number : 48 Question Id : 802437948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT released by sympathetic
preganglionic neurons?
Options :

Neurotensin
8024373789.

Enkephalin
8024373790.

Serotonin
8024373791.

Pathfinder Academy
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Substance P
8024373792.

Question Number : 48 Question Id : 802437948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

=TT 19 & TF 7 Soaoa/STa9 SqEdT TR =@ HT aieaT HiioraT o
gl graT 27

Options :

(s

8024373789.

8024373790.

8024373791.

T+ P

8024373792.

Question Number : 49 Question Id : 802437949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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O

TEY

The trait shown in the above pedigree is
Options :
X-linked recessive trait
8024373793.

autosomal recessive trait
8024373794

Y-linked trait
8024373795.

X-linked dominant trait
8024373796.

Question Number : 49 Question Id : 802437949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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o @)

Eﬁ:h’“l

STLIFT FAFHA F FTATAT T FATE

Options :

X-Age e AT A9

8024373793.

FTAIEET FATATAT (TR

8024373794

Y-Fge faeTs

8024373795.

X-FEAT TATAT (99

8024373796.

Question Number : 50 Question Id : 802437950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



A plant that produces disc-shaped fruit is crossed with another
plant that produces long fruit. All the F1 plants gave disc-shaped
fruits. When the F1 were intercrossed, F2 progeny were produced
in the following ratio: 9/16 plants with disc-shaped fruits; 6/16
plants with spherical fruits and 1/16 plants having long fruits.
Which one of the following options gives correct genotype of
spherical fruits obtained in F27

Options :

A_bb only
8024373797.

aaB_ only
8024373798.

A_bb and aaB_
8024373799.

A_B_and aabb
8024373800.

Question Number : 50 Question Id : 802437950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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T YT ST T FIT-ATHRIT FT TA SeATaT TLAT ©, SHFT FHLT AL
T T FATAT AT T AT TFed SeATTae F2aT 21 77 F 1 98 F9T77 e
% T daT T S F 1 T e A e T T a1, F2 "ataat § {e
ST I T ; 9/16 T TITI-SMHTL & Foedt ATA; 6/16 T TATHTT
Tl ATA TAT 1/16 T = TieAl AT

AT &I A7 U (=weT F2 | WTo AT Bl Jrel T 7 T80

SHTAYET 97T 272

Options :

99 A bb
8024373797.

FaT aab
8024373798.

A bbTaT aab
8024373799.

A_B_T9T aabb
8024373800.

Question Number : 51 Question Id : 802437951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy
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The maximum frequency of recombination that can occur between
two loci is

Options :

25%
8024373801.

50%
8024373802.

5%
8024373803.

100%
8024373804

Question Number : 51 Question Id : 802437951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

=1 FBeget % € 29 T AT i aaiaE arg T 21 AT 2

Options :

25%
8024373801.

50%
8024373802,

75%
8024373803.

Pathfinder Academy
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100%
8024373804.

Question Number : 52 Question Id : 802437952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A panel of six hybrid cell lines, each containing a different subset of

human chromosomes, was examined for the presence of the gene

product as shown below:

Cell Gene Human chromosomes present
e produst 4 508 & 5 NEEMG NN
present

A + + + 4+ + - = - - - =
B + - —+ + 4+ + + - - -
c = — # P = = A
8 3 - 4+ - = = + + vd
E » s A 2% s R e e g
F + + + - + + 4+ - - - =

The gene which codes for the given gene product is located on
which chromosome?

Options :

Chromosomes 3,4 or 5
8024373805.

Pathfinder Academy
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Chromosome 3
8024373806.

2024373807, ohromosome 3 or 4

Chromosome 4
8024373808.

Question Number : 52 Question Id : 802437952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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. THE FAET F90 FT U A9, oww = § a7 J99T-
F@T ITAHE 2, IAH W19 IATE Al gUEAT W TEA WE g9 T
FAATHAT & ALATT 50T AT

Cell Gene Human chromosomes present
e PRk § 5 3 45 B ¥ 8 8 A
present

A - $ ot e R e -
B + - — + + + + + - = -
c = =l R e LA
D 5 — o = o~ e § =
E = = gete o =SS
F + + + - + + + - - - =

S ST 3 T3erT Sfie So9T% 7 T FeaT 8, 9% e T T J9AT

2?7

Options :

T 3,4 T 5

8024373805.

T 3
8024373806.

T 3 T 4

8024373807.
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T 4

8024373808.

Question Number : 53 Question Id : 802437953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A gene was located on 10p11. This means the gene was located on

the
Options :
2024373809, short arm of chromosome 10 at G-sub band 1 of band 1
short arm of chromosome 10 at G-band 11
8024373810.
short arm of chromosome 10 much away from the centromere
8024373811.
long arm of chromosome 10 at G-sub band 1 of band 1
8024373812.

Question Number : 53 Question Id : 802437953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T S 10p 1177 ATTEAT AT FATH S7 A AT 4T
Options :

TTEA 10 F L AT % Tol 1 % G-ITTE1 1 X

8024373809.
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T 10 F @ O F G-T51 11 9%

8024373810.

T 10 3 T T T7 O F agd 541 7
8024373811.

T 10 % & AT F TE 1% G-8TIEr 1 W
8024373812. 'ﬂT:lT z -

Question Number : 54 Question Id : 802437954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Autogamy refers to
Options :
self-abortion of gametes
8024373813.

flower failing to open
8024373814.

self-pollination of flowers
8024373815.

cross-pollination of flowers
8024373816.

Question Number : 54 Question Id : 802437954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

THET FT TS

8024373813.

TET FT TERET A8l 2T

8024373814

TETT T FTEET
8024373815.

T T TL-TLRTT
8024373816.

Question Number : 55 Question Id : 802437955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following plant pathogens has largest genome

size?

Options :

Phytophthora infestans
8024373817.

Ustilago maydis
8024373818.

Botrytis cinerea
8024373819.
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Fusarium graminearum
8024373820.

Question Number : 55 Question Id : 802437955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

it By T ITET TTSE § AN T AT aaieE 52

Options :

FTZEA T T7he=-T (Phytophthora infestans)
8024373817.

SEANT AT ( Ustilago maydis
8024373818. ( g mayes)

FiETeia F=aT (Botrytis cinerea)
8024373819.

FHTAH ATHIATH (Fusarium graminearur)
8024373820.

Question Number : 56 Question Id : 802437956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The 50 km wide Palghat Gap is the only major topographic breach

in the Western Ghats. This gap continues as the Ranotsara Gap

in the Angavo escarpment. Which country is the Ranotsara Gap

located in?
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Options :

Sri Lanka
8024373821.

Madagascar
8024373822.

Mozambique
8024373823.

Kenya
8024373824.

Question Number : 56 Question Id : 802437956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

50 km #H TTETE AT A2 T2A (TIEHT TEEAT) FT AHeAT THT

Sooa g1 T dFIT TAATET 7Y (Angavo escarpment) § THTEAT

#9411 (Ranotsara Gap) & 919 & Rewaea T84T 3| T dA7Td
(Ranotsara Gap) 5 9T # safeaq 27

Options :

=T

8024373821.

8024373822.
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HISAT=S

8024373823.

8024373824.

Question Number : 57 Question Id : 802437957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A lectotype refers to

Options :
a specimen of the opposite sex to the holotype and
designated from among paratypes.

8024373825.
an illustration based on which a new species is described.

8024373826.
a specimen later selected from a group of syntypes to serve
as the type specimen for a species, after its original
description was published.

8024373827.
a substitute specimen selected to serve as the type
specimen of a species after its original description was
published, when an original holotype has been lost or
destroyed.

8024373828.
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Question Number : 57 Question Id : 802437957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T AFETETET T FdT 8

Options :

8024373825.

8024373826.

8024373827.

8024373828.

A T&T 7 T FATira O F937 97 o707 (paratypes)
f= & FfE= BT gam

T /AT S AT 9T U 99T ST # = 5T
SATET 2

T JHAT oAET FA9 T F TH & U A0S H AGT FAA & A

THTIIT 2T 21

TF FATATI A9AT ToTAaT FATT 7o F0F THI97T BT F09 &
TYETT T AT THT F 7HA & se1 7w sy g, safw g7 3=
T T T AT 752 27 J7497 3

Question Number : 58 Question Id : 802437958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.5

Given below are the survivorship curves showing the proportion of
individuals surviving over time or age. Three generalised types of
curves (a, b and c) are depicted below. Which of the following
represent the correct survivorship curve for the given organisms?

100

Percentage of
o Individuals surviving —»

Age —»

Options :

a = Elephants; b = Lizards; ¢ = Oysters
8024373829.

a = Qysters; b = Elephants; c = Lizards
8024373830.

a = Lizards; b = Oysters; c = Elephants
8024373831.

a = Oysters; b = Lizards; ¢ = Elephants
8024373832.
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Question Number : 58 Question Id : 802437958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

=it Seasstiadar 9% T99 A7 SY/FRTT THTE & 79 Siad siiai
HAATT &l FIET 2| AT AT HT TR0 & 9% (a, b T4T ¢) = F97r
T g1 AT wi ar s Bwer {0 1w Siat F Saaestiiaar 5% F:T
Tl IATar 272

100

Percentage of
o individuals surviving —

Age —>

Options :

a = grAE; b = oEw«ar, ¢ = g4t (Oysters)

8024373829.

a = g[~raT (Oysters); b = g4, ¢ = o=y

8024373830.

a = fguseaT; b = gpf=FaT (Oysters); ¢ = grfia

8024373831.
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a = e[<FaT (Oysters); b = Bawa=T; ¢ = grdfia

8024373832.

Question Number : 59 Question Id : 802437959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

According to Hamilton’s rule, 'r" is the coefficient of relatedness
between two interacting individuals, ‘B’ is the benefit to the
recipient and ‘C’ is the cost to the donor. Which of the following
relationships will result in an altruistic behaviour?

Options :

rB=C
8024373833.

rC_-B=0
8024373834.

r> C/B
8024373835.

rc-B>0
8024373836.

Question Number : 59 Question Id : 802437959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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e & a9 AT, ¢ & A AAT A AT SeA % A
HHEEAT 7 [ONF 2, ‘B’ ITTS HT AT g 7F 'C’ ZTAT 1 77 3| [Reiia
TN AT TF FAT TITHI] AL F T THEOTHT FoAT2

Options :

rB=C
8024373833.

rC-B=0
8024373834.

r> C/B
8024373835.

rC-B>0
8024373836.

Question Number : 60 Question Id : 802437960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Which one of the following statements is correct with reference to
ecotones?
Options :
Ecotones are rich in endemic species and only contain

species not found in surrounding ecosystems.
8024373837.
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Ecotones refer to areas that are under habitat degradation
and contain endangered species that are not found in the

neighbouring communities.
8024373838.

Ecotones are species poor habitats due to scarcity of soil

nutrients and availability of resources.
8024373839.

Ecotones are transition areas between two ecosystems and
have greater number of species than either of the

neighbouring communities.
8024373840.

Question Number : 60 Question Id : 802437960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TR & Had | HeATna S a7 TF F49 97 272

Options :

THHFTAT H TATHE TATAAT 7 THLAT BIAT 2 TAT TET TATA0
ZIET g ST 15 A-TT0 & T A% a7 § Ag! 9t et |
8024373837.

H 2 747 o\ g% ISaAr g SiE au0T % GHErEr § gl
T ST 2

8024373838.
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HHTHET J&T TIAHT T STATE AATERT 01 FHHT o6 BT TSATI

v T 2

8024373839.
HH AT &1 AT T (A% 9 % S 7 U A/AT A g (orad (]
AT FHIT & FHITAT F TSAAIT 00 ST A8 gl ol

8024373840.

Question Number : 61 Question Id : 802437961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Two populations of squirrels evolved across two regions
separated by a large geographic barrier. Over a long period of
time these populations are reproductively and geographically
isolated from each other. This is an example of

Options :

sympatric speciation
8024373841. ymp P

allopatric speciation
8024373842.

artificial speciation
8024373843.

anagenesis
8024373844,
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Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



Question Number : 61 Question Id : 802437961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T TT AT AT F AT &7 TS 7 [erg Al & af arareal
FT FH-TFT AT TF AF 87T & IT+T J AFEAT AAATHF T4
o |l & Ue ga & T9% 21 T 98 TF S0

Options :

AHEATHE ATA-3 5.4
8024373841.

T JTa-s 599
8024373842.

FHH ATA-I 591
8024373843.
8024373844, '

Question Number : 62 Question Id : 802437962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The term “abominable mystery” was used by Darwin in the
context of origin and diversification of

Options :

Pathfinder Academy
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angiosperms
8024373845,

microorganisms
8024373846.

beetles
8024373847,

birds
8024373848.

Question Number : 62 Question Id : 802437962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TET F gwr sy Gy o wivemes s g e

(abominable mystery) =% Soat TH EfEe TR * qrevew |§ &AT
=T

Options :

EEEEIE]

8024373845.

LIl

8024373846.

o

8024373847.
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TET

8024373848.

Question Number : 63 Question Id : 802437963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If bird song is selected to maximize broadcast range and to
minimise degradation, then according to the “Acoustic Adaptation

Hypothesis” which of the following combination of features is
likely to be shown by birds singing in dense forests?

Options :

Low frequency with narrow bandwidth
8024373849.

High frequency with narrow bandwidth
8024373850.

Low frequency with wide bandwidth
8024373851.

High frequency with wide bandwidth
8024373852.

Question Number : 63 Question Id : 802437963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Tfe TTEET & TI0AT FT FA9 T ST FT TR 7T 9T T9T F
=" 74 & for B S a9 eataw aqgers 7h e (Acoustic

Adaptation Hypothesis) ¥ sqame fEforana & fFe=itE 71 &7
FT AT TF =97 Tgd a41 B T g0 TIATT ZIT AATAT =T 7 Z90AT

Options :

FH AT F AT THT &% #T F1=T2 (bandwidth)
8024373849.

S=F AT & AT T A= T AreTe (bandwidth)
8024373850.

FH AT F ATT 119 9w HT ATSTE (bandwidth)
8024373851.

=9 AT F AT E7F 3= #i1 A2 (bandwidth
8024373852. o )

Question Number : 64 Question Id : 802437964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In Africa “AS” represents a carrier of sickle cell anaemia, where A

is the allele for normal haemoglobin and S for sickle cell

haemoglobin. If the allele S is maintained at a high frequency in

some populations, this represents a case of

Pathfinder Academy
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Options :

homozygote advantage

8024373853,
heterozygote advantage
8024373854.
8024373855. dominance
genetic drift
8024373856.

Question Number : 64 Question Id : 802437964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AThTHT F “AS” TH TTAANZT FHITAHT ATHFTAT & ATEH HT 97197 g, Tl
A FHEEAET FT ATHET THEFCN g T4T S ITalied wirer

gt g1 A Fg ST & Al § A g st
qeraT g 97 98 oty & aatea #ar 2
Options :
AHAIHA 11H
8024373853.
IaQH’ilqEI {:”ﬂ
8024373854.
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TATEAT

8024373855.

FrATE =

8024373856.

Question Number : 65 Question Id : 802437965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In mammals, the primary circadian clock is located in which of the
following parts of the brain?

Options :
Occipital lobe of cerebrum
8024373857.

Amygdala
8024373858.

Suprachiasmatic nucleus
8024373859.

Frontal lobe of cerebrum
8024373860.

Question Number : 65 Question Id : 802437965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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TAFATAT § TTATHF THeaT J81 Hieacw & [(Heed o 90 |

Fa*aT BAT 27

Options :

THTETF F TS F T 9
8024373857.
8024373858,

AT T
8024373859.

THETF & T2 TG
8024373860.

Question Number : 66 Question Id : 802437966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In Agrobacterium mediated transformation, which one of the
following approaches is more likely to generate transgenic plants
with INCOMPLETE transfer of the passenger gene?

Options :

Placement of selection marker gene towards left border and

passenger gene towards right border of T-DNA
8024373861.

Pathfinder Academy
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Expression of selection marker gene under constitutive
promoter and passenger gene under tissue-specific promoter

8024373862.
Placement of passenger gene towards left border and
marker gene towards right border of T-DNA

8024373863.

Expression of both selection marker gene and passenger
gene under constitutive promoters

8024373864.

Question Number : 66 Question Id : 802437966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T =TT Feae ] T H [HEATa S &1 T8 TH5d TEee S0
F AT TATATALIT ATl TESAAT GTE SeT e & (o7 3= AATAT 27

Options :
T-DNA F IT0 19T % 79 999 =vg® 9 %7 47 70 F497 5
T TEHT ST HT ETIH

8024373861
T Hv=F 519 F1 ATT=a=% 79% ST F 9909 T97 THA7
ST SA% (AT S TIF & A4

8024373862.
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T-DNA % ST0 8T % 99 T899 S(= &7 797 =70 #7697 F 975
=T = S & 2T

8024373863.

T e o9 UF 49w S, T A ATHA T 79w S TIw §

8024373864.

Question Number : 67 Question Id : 802437967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A student added DMEM culture medium which was pink in
colour to growing liver cells. Three days later the medium
colour was yellow. This indicated

Options :

change in cell morphology
8024373865.

change in pH of the medium
8024373866.

depletion of nutrients in the medium
8024373867.

lack of antibiotics in the culture
8024373868.

Pathfinder Academy
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Question Number : 67 Question Id : 802437967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T A A (GO TFT HIErA § DMEM #=¢ ATeaw e
ST TSt 37 %7 47 A9 BGA T F ve=ra qregw w57 30 T 9m
g #3471 2l

Options :

FITOTHT ATFRTTT F T a9

8024373865.

HTETH % pH ® a0+

8024373866.

HATETH | T19F 91 F7 T4
8024373867.

GECERMIEEIEEI IS L]
8024373868.

Question Number : 68 Question Id : 802437968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Given below is a schematic representation of a Southern blot
performed to identify single copy integration events of the T-DNA
among six transgenic plants (T1 — Tg).

Untrans- T¢ To Ta T4 Ts Ts
formed
Control

Which one of the following options represents potential
single copy events?

Options :

T1, Tsand Ts
8024373869.

Tp_ and T3
8024373870.

T4 only
8024373871.
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T1only
8024373872.

Question Number : 68 Question Id : 802437968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T ATESAT TTeT % &1 T-DNA % T8 Tiagd 8T T2 T
W%ﬁmﬁm =T (T1 = Ta)l
Untrans- Ty Ta Tal Te B Te

formed
Control

TATAT 82

Options :
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Tq, Ts 97 Te
8024373869.

T2 T9T T3
8024373870.

FaT Ta

8024373871.

Fa T4

8024373872.

Question Number : 69 Question Id : 802437969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In the enzyme-linked antibody used in ELISA, the interaction
between the enzyme and antibody is stabilized by

Options :
hydrogen bond
8024373873.
ionic bond
8024373874,
covalent bond
8024373875.
van der Waal's interactions
8024373876.

Pathfinder Academy
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Question Number : 69 Question Id : 802437969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ELISA ® ITHNT ETH a7 T=T2H a5 Taet § THA2H a497
wfavelt & &= T T AT HAT T TATHTHLT 346 Z1T 2rar ¢

Options :
— -

AEFIEREIER)
8024373873.

AT AT
8024373874.

HEHATS T AT
8024373875.

, = —~

ATrs 2 Avd oA A1

8024373876.

Question Number : 70 Question Id : 802437970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Amongst the following, which one is the most appropriate
strategy to sequence and assemble highly repeated regions of
a genome?

Options :

Shot gun sequencing
8024373877.

Pathfinder Academy
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lllumina sequencing

8024373878.
454 sequencing
8024373879.
Sequencing of BAC libraries
8024373880.

Question Number : 70 Question Id : 802437970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TAeitera & &= & il = UF TS5 T U J91 & ATq-0Aerged Te=1
T AHHIT TAT AAFHHT T TR FHId 6 o0 T STIFT 27

Options :

STTETT ATHAT
8024373877.

ST HAT ATFH
8024373878,

454 FwHET
8024373879.

BAC TUET T ATHHI

8024373880.
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Part C Life Sciences

Section Id : 80243724
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 80243738
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 802437971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The Hill equation and its plot describe the following enzyme kinetic
behaviours

A. Saturation Kinetics

B. Cooperative Kinetics

C. Log V;/(Vmax — V;) versus Log|[s]

D. Log (V. — V;)/ Viversus Log[s]™*

Which one of the following combination represents correct
descriptions?

Options :

AandC
8024373881.

Pathfinder Academy
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B andC

8024373882,

BandD
8024373883,

AandD
8024373884,

Question Number : 71 Question Id : 802437971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 &= (The Hill equation) F4T et FTe0(T M1 TreiTe® T
A. |FMH FeRTaet

o

B. TEHTLI TN

C. Log Vi/(Vmax — Vi) ¥9TH Log|s]
D. Log (Vmax — V;)/ Vi &9TH Log[s]
FATTa FlT AT UF% §F 7209 sATATAl FT HET0 FHear 27

Options :

802437388l1. ATIC
BTaTC

8024373882.
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BaarD
8024373883.

8024373884. ATITD

Question Number : 72 Question Id : 802437972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In regulating the quantity of enzyme, its degradation plays a pivotal
role. Following statements are made to represent the degradation of
enzymes in the 26S proteasome.

A. The active sites of proteolytic subunits face exterior of the
proteasome cylinder

B. The active sites of proteolytic subunits face interior of the
proteasome cylinder

C. Degrading enzymes are targeted to exterior of proteasome by
covalent attachment of one or more molecules of ubiquitin

D. Degrading enzymes are targeted to interior of proteasome by
covalent attachment of one or more molecules of ubiquitin

Which one of the following combinations of statements represent
correct mode of enzyme degradation?

Options :

AandB
8024373885.

B and C
8024373886.

Pathfinder Academy
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B and D
8024373887.

AandC
8024373888.

Question Number : 72 Question Id : 802437972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[-’;G”?tq ¥ /AT & Hae § EREd ATFIT U CRIEET ‘{Fﬁarrarﬂqnﬁ'r@
26S TIEATHTH § TSATEH % TTHU Bl G919 7 & (o107 7 " a1

T

A. TTER AT TTOHHT 61 FATeer T4 TS AT T & T qT A

B. W 9= TTTEHT F1 FFarefier o Ty 99 F arates 97

T ALF T 2T 2

C. T & UF a7 HTAF AAT & AgAAAH ASTT 17T ATHHTEA
D. AT & UF a7 AT9% AVA % TEAIAT AT 5T ATHIH
TVATEH VTETATATE & A€ qET 6l q0F ATd 2 gl

FATT T HEAHT H 0T TT TF TS TeT2q ATFIT 3 TE0F TOTAT F T

FITATE ?
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Options :

ATaTB
8024373885.

Baar C
8024373886.

Ba4T D
8024373887,

ATar C
8024373888,

Question Number : 73 Question Id : 802437973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In classical Anfinsen’s protein folding experiment the enzymatically
active ribonuclease is treated with B-mercaptoethanol and 8 M urea.
Following which, the preparation was

A. dialyzed to remove the -mercaptoethanol and 8 M urea
the sample was completely oxidized in 8M urea after dialysis

B.
C. trace amounts of B-mercaptoethanol was added to the dialysed
D.

sample
8M urea was added to the dialyzed sample

Which one of the following steps will lead to regaining of the full
enzymatic activity of ribonuclease 7

Options :

Pathfinder Academy
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A followed by C

8024373889.

A followed by B
8024373890.

A followed by D
8024373891.

A alone
8024373892.

Question Number : 73 Question Id : 802437973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ATV E TATHE 2 TIET T TF0 § TAIEH < areie Teagiaa s
FT B-ATE2 2 AT 4T 8 M IRAT & Ia=AT A f36mT 13T a57<re=, arit

9,

. B-ATEEIEAATA 74T 8 M VAT &l g2T9 & o sy foar mar
HTE & e 8M AT F FHA T TOTAT AFH (5 (54T 74T

. B-ITEHEIRAATA il AT-HTAT &l AT(2d 97 § HAET T=7

8M TIAT T A A5+ d HaA™™ET T47

T S0 | | Fi A7 UF a0 & TF0 TATHET
FraTefieraT =t = =T e

Options :

Pathfinder Academy
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AF A= C
8024373889.

8024373890. AT B

AFI=D
8024373891.

.%TcmA

8024373892

Question Number : 74 Question Id : 802437974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following statements were made regarding the role of protein

modifications

A. Attachment of acetyl groups to the amino termini of proteins makes
it more resistant to degradation.

B. Attachment of hydroxyl groups to proline residues stabilizes fibres
of newly synthesized collagen

C. Addition of sugars (glycosylation) makes protein more hydrophilic
enabling protein-protein interactions

D. Addition of sugars (glycosylation) makes protein more hydrophobic
enabling protein folding

Which one of the following combinations represents all correct

statements?

Pathfinder Academy
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Options :

A,BandC
8024373893,

A,BandD
8024373894,

B and C only
8024373895.

A and D only
8024373896.

Question Number : 74 Question Id : 802437974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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TS FATAC0 & qIHET % 959 H H 594 a1 19
A. TTEHAT F THET HHTeT 77 THEre S THE F T A9 2R Ty

T | At TiaereT a=7ar 2|
B. T T2l H gIEg a0 THG! FT ST a7 FYATHT HIeret aeq
Tl BT AT 2

C. STHAT T TATAA (TATSHITEASTT) T HT ATATVFT FATTAT FTATAT 2
HAT TIEA-TTETH AT 50aT 7 A9 FeaTl ¢

D. ST &7 HATAT (TATSHITACT9T) A Fl AT ST m{i a=71aT 2
qT TIE TATH T TAHAT FAT 5

T et 7 Fite =7 v T Ffew A=t w7 90T 82

Options :

A BTarC
8024373893.

A.BTarD
8024373894

FA B TITC
8024373895.

FTA A TATD
8024373896.

Question Number : 75 Question Id : 802437975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The following statements were made to describe the role of Gibbs free
energy

A. Reaction can take place spontaneously if AG is negative

B. Reaction can take place spontaneously if AG is positive

C. AG provides no information about the rate of a reaction

D. AG estimation provides the rate of a reaction.

Which one of the following represents all correct statements?
Options :

AandC
8024373897.

B and C
8024373898.

Aand D
8024373899.

BandD
8024373900.

Question Number : 75 Question Id : 802437975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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=0 T Soll & JIHET &l AT F99 & (o0 qE1d H94 977 10
A. 7% AG FITERS g AT ATH0AT =90: &1 Tt ¢

B. 7% AG &HTeH®T g AT ATHHAT T9: ZT TFa1 ¢

C. AG srfstferT 7 77 & 71 | F7g THAT T=19 Tal T §

D. AG T AT ATHHAT &f T FaTd &

e | & F9 a7 T& T T50 FAF1 50 39797 27

Options :

ATaT C
8024373897.

Baar C
8024373898.

a1

8024373899. ATTTD

Baar D
8024373900.

Question Number : 76 Question Id : 802437976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The following statements describe the propensity and role of amino

acids in the secondary structure of proteins

A. Alanine has a high frequency of occurrence in d-helices

B. Proline has a high frequency of occurrence in a-helices

C. The y, does not affect the helix propensity of serine, threonine and
valine

D. Peptide bonds involving ‘N’ of proline may display cis-trans
isomerism

Choose the correct combination.

Options :

AandD
8024373901,

AandC
8024373902,

B and C
8024373903.

C and D
8024373904.

Question Number : 76 Question Id : 802437976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T T WA & (A a® AFAT § GHAT A7 0 T 05 JrHTT
T SATEAT T3 &

A. TAATE &7 a-—FS e+ T | T STH 37 AT ATe 2l 2|

B. WA &7 o—FS (AT § T ST &f AT ATH ZrAv 2

C. x, A, THa== 797 09 & T=Te4T TG0 9% F12 T979 A5l 14T 2
D. T=T2T arave s T % N ortae g, FHa-2i e (cis-rrans)

AHTIIFAT TI9T T AT 2
Tt e =1 T3 7
Options :
ATATD
8024373901.
8024373902. SO
B TgT C
8024373903.
8024373904. CTD

Question Number : 77 Question Id : 802437977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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For an exponentially growing culture of bacteria where Ng is the initial
population number and Nt is the population number at time £, the mean
growth rate constant (K) is expressed as

Options :

8024373905.

8024373906.

8024373907.

8024373908.

logN:—logNg

0.301t

logNg—log Ny

0.301

logNg—log Ny

(

logN;:
0.301t

Question Number : 77 Question Id : 802437977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T FLATATHI qEIF | (AT H) TEd SAAT] T F 7 F@T % No ATHE
TATET TAT g TAT N, T9 1 TF AETAl 64T 2, 91 #7767 g5 a7 =% (K)

Options :
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8024373905.

8024373906.

8024373907.

8024373908.

logN:—logNg

0.301t

logN:—logNy

0.201

logN:;—logNy

t

logN;
0.301¢t

Question Number : 78 Question Id : 802437978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The following statements are made with reference to membrane fusion

reactions in vesicle transport catalyzed by transmembrane SNARE
proteins.

A. The SNARE transmembrane proteins exist as complementary
sets, with v-SNARES on vesicle membranes and t-SNARES on
target membranes

B. A v-SNARE is usually composed of 3 proteins and t-SNARE is a
single polypeptide chain

C. The v-SNARE and t-SNARE proteins of a pair interact via helical
domains possessed by the two proteins, resulting in formation of a
stable two-helix bundle

D. Membrane fusion is catalysed by the energy that is freed when the
interacting helices wrap around each other to pull the membrane
faces together, concurrently squeezing out water molecules from
the interface.

Which one of the following combinations represents all correct

statements?
Options :
8024373909. AandB
B and C
8024373910.
Cand D
8024373911.
A and D
8024373912.
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Question Number : 78 Question Id : 802437978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Trereredt SNARE T ZTRT IoH1d TIewT THagH |/ gin aTt (eredt gera

qiaT % "2 § e Fae q=re 1)

A. TrfEredt SNARE TR ST ® Srs oo (=@ gt g, e v-
SNARES qfe= f&rfea=at 77 797 t-SNARES wfera fErfeet 77 grar 2

B. 7% v-SNARE ATHT=AAT 3 &A1 7 541 gt g 747 t-SNARE U% U&%

T =T2E 43T 2

C. 7% HTg F v-SNARE 4T t-SNARE W&+ 241 ITE141 ¥ ST
FETrT T2 % HATETH T A AT Fodl ¢ (ord s HAca s 0% T4 T
st wzar 94T 2

D. TEredtt a3 Sol & SedT<d 2IaT 2 SFI1eh 99 qFd ZraT g T A = 50T
F¥ T TeAT Fered] At F1 a1 ® f=d & o v e & =9 7%

2
AT FI7 a7 U Her THT T20F FAF1 1 T2 H7d 52

Options :

ATaTB
8024373909.

Baar C
8024373910.
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a1 D
8024373911.

ATatD
8024373912.

Question Number : 79 Question Id : 802437979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The mammalian protein HP1 plays a major role in heterochromati-
nization and silencing. The following mutations are proposed to
negatively impact HP1 function.

A. Mutation inactivating the deacetylase that targets H3K14Ac

B. Mutation inactivating HP1 bromo-domain

C. Mutation inactivating HP1 chromo-domain

D. Mutation inactivating the KMT1A methyltransferase whose target

site is H3K9
Which one of the following combinations represents all correct
statements?
Options :
A,CandD
8024373913,
A,BandD
8024373914,
B and D only
8024373915.
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C and D only
8024373916.

Question Number : 79 Question Id : 802437979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FAALATAT § T HP1 ST gearmAtedtme va [{eatswor § g

qTHEHT AT Fed 2| AT geateaad HP1 & F19 97 A< eq% TATT ST

& 1T weaT=g =T 7=

A. serteaas o1 3 H3K14Ac T 18T v a1 fRuHiarzas & Ao
T 2

B. SeAvaad &1 1% HP1 FH-9&= T HieaT F7d 2l

C. Soafyaas of % HP1 ®ET-wr= =t fAfewT F7a 3|

D. Seafeaaa s KMT1A FATEA2F o TS AferT =4+ H3K9 2,
ELEEAREIR R

Feifaa § & F17 a7 vF Ha a7 7gt FA91 7 F97ar 22

Options :

A, CTarD
8024373913,

A,BTaTD
8024373914,
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FTT B TITD
8024373915.

T CTATD
8024373916.

Question Number : 80 Question Id : 802437980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The statements given below refer to the lambda phage.
Clear plaques are formed in Q mutants

No plaques are formed in nut mutants

Clear plaques are formed in ¢/l mutants

Turbid plaques are formed in integrase mutants
Clear plaques are formed in P mutants

No plaques are formed in ¢/ mutants

I mB O

Which of the following combination of statements is correct?

Options :

A, B and F only
8024373917.

C, D and E only
8024373918.

B and C only
8024373919.
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D and F only
8024373920.

Question Number : 80 Question Id : 802437980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

= fa T FAT =T AT & 3o g A 2
Q SeAvAadl § TTS2/ATF =T a9dT 2|
nut ST TAAT § AT A81 a7 2

c// FEtataar & Te2/aTs W% T4 2
TEIST SeAT gl | Ui =T aedl gl

P ServaTadl § TTC2/ATH =T a441 g

o/ IAfataat § v g1 a4 2
ﬁﬁﬁ?ﬁ#ﬁﬁ?mﬁmﬂﬁ?@

Options :

R = A O

Faad A, BTaTF
8024373917.

Faa C, DTATE
8024373918.

FTT B TAT C
8024373919.
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FTADTATF
8024373920.

Question Number : 81 Question Id : 802437981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The table below lists cell cycle regulatory proteins and their known
functions

Cell Cycle regu- Function
latory proteins
A | Cdk — activating | (i) Suppresses G1/S-Cdk and S-Cdk
kinase (CAK) activation in G1; helps cells withdraw
from cell cycle when they terminally
differentiate; phosphorylation by Cdk2
triggers its ubiquitylation by SCF.

B Wee1 kinase (i) | Suppresses G1/5-Cdk and S-Cdk
activities following DNA damage

C p27 (mammals) | (iii) | Phosphorylates inhibitory sites in
Cdks: primarily involved in
suppressing Cdk1 activity before
mitosis

D | p21 (mammals) | (iv) | Phosphorylates an activating site in
Cdks

Which one of the following options represents the correct match
between cell cycle regulatory proteins with their known functions?
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Options :
A — (iv), B — (iii), C = (i), D = (ii)

8024373921.

A = (iii), B = (ii), C = (iv), D = (i)
8024373922.

A — (ii), B — (iii), C = (i), D — (iii)
8024373923.

A — (i), B = (ii), C — (iii), D = (iv)
8024373924.

Question Number : 81 Question Id : 802437981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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2l
A | Cdk — T+ (i) | G1d G1/S-Cdk 9T S-Cdk = T
FTeaw (CAK) Tl STHA HOAT 2, BITTHTAT Tl FH 1T

=% 7 ATEL AH H AgEdl FaT ¢ 99 o
gfeaw =7 7 937 39 8; Cdk2 5T
FTERIT AT SCF & =%
T A 7T T AT FHoaT 2

B | Weel FT=w (i) | DNA & =3 F 79919 G1/S-Cdk FT (¥

FTAT g 4T S-Cdk FT |5 HvaT 2|
C | p27 (Fa=aT) (iii) | Cdks T THAFT ¥4 ol HIEhHITT FvdT

=

g HEATAT Gt =ETeE 7 9 Cdki1
F TTATSTET T G194 Fed | AT Zrar
Z

D | p21 (F974T7Y) (iv) | Cdks ¥ 7= HTTa =9 ®T "IEhTHT
FAT 3l

it & & #19 °7 T e ST 7% AT WA v 59 e
FTAT & AT HT T A Toqq Fedm g7
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Options :
A — (iv), B — (iii), C - (i), D - (ii)

8024373921.

A — (iii), B — (ii), C = (iv), D — (i)
8024373922.

A — (ii), B — (iii), C = (i), D - (i)
8024373923.

A — (i), B — (i), C — (iii), D = (iv)
8024373924.

Question Number : 82 Question Id : 802437982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The following statements are being made about the archaeal cell

wall/membrane:

A. Archaeal cell walls could stain Gram +ve or Gram —ve depending
on the genus

B. Archaea are characterized by Gram +ve staining of the cell wall

C. Archaeal cell walls are susceptible to degradation by lysozyme

D. Archaeal cell membranes possess branch chain hydrocarbons
linked to glycerol by ether links

Which of the following combinations of statements represents all

correct statements?

Options :
AandD
8024373925.
8024373926. BandC
CandD
8024373927.
8024373928. BandD

Question Number : 82 Question Id : 802437982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T 9 F AT AT o FHIT9TT TSI/ Tee | & "5 § IA797 97 727 2
A, =T (ST9H) F A& T7 A=y St 7w fa 3 awreeas
(Gram +ve) AT TTH THTTHF (Gram —ve) ATHTs% o THT 2l

B. #T=r a1t 7 90T foiwr % 918 Tarerens (Gram +ve) A9 %

grerT av freras T s 2
C. &= SATIEAT 3 FHIT9ET =T ATSATST2H & 5197 AFHHT giH & o7
giaeaasiie T 2

D. ST SaTopsr #F FwriernT Erfeast § 247 wieat T e 7 9
STES FEAT grEg raTad gl ol
FAAT FT (HFAT0T I AT Ua HATH T T FAT] Dl 5907971 272

Options :

ATar D
8024373925.

Baar C
8024373926.

a1

8024373927. CamD

BaaT D
8024373928.
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Question Number : 83 Question Id : 802437983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are few statements related to DNA replication:

A. Replication in eukaryotic chromosomes from the origin(s) is
initiated multiple times in each cell cycle while it is initiated only
once in each cell cycle at the origin in bacterial chromosomes

B. Improper reinitiation of replication in a eubacterial chromosome is
prevented by hemi-methylation status of the bacterial origin

C. DNA polymerase lll is the major replication polymerase
responsible for de novo synthesis of both leading and lagging
strands of DNA in E. coli

D. Rolling circle mode of replication produces multiple units of the
original molecule

Which one of the following options represents INCORRECT

statement(s)?
Options :
A only
8024373929.
BothBand C
8024373930.
8024373931. Bofl A agdle
B only
8024373932.
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Question Number : 83 Question Id : 802437983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DNA e & F99 § 919 g F94 (&0 10 2

A. T FHIAHT TFH H T exe0 1 AT J AAHa 9 & 99 I5H
TIA/TAAT H AT TT ATHT g1 3, STt SAIaropai & Ot § T
FITLHT T | SEH o4 7 Fac] U q17 2 A BT 2

B. FATE=e AT § TaHaiad ®T AST0 TAITEH ST Feqi & HAe-
HATZA T (#aTa 7 FTCET 20 2

C. E. coli® DNA Tietaew ||l TH& Taaei= Te¥9eet g S % 9397 7
TYFITHT Too(® a1 & 707 47 7 (de novo) =TT & form seaeart 2

D. YTAFHaTad FT ATEE o (=519 A A9 F A% T ScATad F2d 2|

FReiaa & & %17 A7 UF f@AFeT Taq FAA/F997 B TqTT 57

Options :

FaT A
8024373929.

9T C =191

8024373930. BT C

A F47 D =741
8024373931.

9 B
8024373932.
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Question Number : 84 Question Id : 802437984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are four sentences with blanks (labelled X, Y, Z and L).

A. RNA Pol | transcribes __ X .

B. miRNA genes are transcribed by Y .

C. The RNA polymerase found only in plantsis __ Z
D. tasiRNAs are synthesized by L .

Which one of the following options would present the combination of
all terms (in the order X, Y, Z and L) to complete the above sentences

correctly

Options :

X -—mRNAs; Y — RNA Pol ll; Z - RNA pol IV; L —= RNA Pol Il
8024373933.

X —tRNAs; Y — RNA Pol lll; Z- RNA pol V; L - RNA Pol |
8024373934

X —45S rRNA; Y — RNA Pol II; Z - RNA pol V; L — RNA Pol |l
8024373935.

X —-18S rRNA; Y — RNA Pol V; Z - RNA pol IV; L - RNA Pol |
8024373936.

Question Number : 84 Question Id : 802437984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

= fr ==t (X, Y, Z 797 L & ) & a1 =17 9 R e 8
A. RNA Pol | agea@ #7ars X .

B. miRNA ¥ sIqeaa grarg Y .

C. %= 9TeT | T 79 J1aT RNA ofefvs . Z .

D. tasiRNAs #FT Hsaa a9+ greremars L .

e | | F19 77 U [T SIS JTFa1 Hl T050dT 7 T2 F77 & (A1
THT ersaTaterat (X, Y, Z 97 L % 0™ 7) FT W 95T w3072

Options :

X -—mRNAs; Y - RNA Pol ll; Z - RNA pol IV; L - RNA Pal 1l
8024373933.

X —tRNAs; Y — RNA Pol lll; Z- RNA pol V; L - RNA Pol |
8024373934,

X —45S rRNA; Y — RNA Pol II; Z- RNA pol V; L - RNA Pol Il
8024373935.

X —18S rRNA; Y — RNA Pol V; Z — RNA pol IV; L — RNA Pol |
8024373936.

Question Number : 85 Question Id : 802437985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below is a partial coding sequence of a gene:
5-AATGGACGCATGTGTCGATGG-3

Which one of the following polypeptides CANNOT be produced by
transcription and translation of the above DNA sequence in any of the

three possible reading frames?

Options :

Asn - Gly - Arg - Met-Cys - Arg—-Trp
8024373937.

Asn - Ala - Cys — Phe — Ser - His
8024373938.

Met — Asp — Ala- Cys - Val - Asp
8024373939.

Trp — Thr — His — Val — Ser — Met
8024373940.

Question Number : 85 Question Id : 802437985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A= % S19 &7 AT T2 AHH (547 T 2
S~-AATGGACGCATGTGTCGATGG-%

T & & 19 A7 0% Tieraarze suerad DNA sd & faet o &1
TATET @ & T3 % dqa" 97 I4497% (translation) g1 HTHT 781 27
TFAT 27

Options :

Asn - Gly - Arg - Met-Cys - Arg—-Trp

8024373937.

Asn - Ala - Cys — Phe — Ser - His
8024373938.

Met — Asp — Ala- Cys - Val - Asp
8024373939.

Trp — Thr — His — Val — Ser — Met
8024373940.

Question Number : 86 Question Id : 802437986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Expression of gene ‘A’ is a regulated by Mg?*. The expression of gene
‘A’ in untreated (UN) and cells treated with Mg2* (T) was analysed by
Northern hybridization (N) and Western blotting (W). A similar exercise

was done for a mutant (Mut) which was isolated with a 6 bp deletion in
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5’UTR of the transcript of gene ‘A’. The following are summary of four

possible results that are hypothesized to be obtained

A. UN 4 B UN T
N AA— — B — —

wrl_ _ W[, —

Mut[:lr — A= MurE::lf

c. UN T D. UN T

WT[:I : WT[E; : -

I'I."Iut[:'r - Mm[::u —1

UN = Untreated Cells, WT = Wild type cells, T = Cells treated with
Mg>*, Mut = Cell with mutation in gene A, N = Northern hybridization,
W = Western blotting

If the regulation of gene ‘A" expression is controlled ONLY at the level
of translation, which of the above profile/s are possible correct
representation of the experimental results.

Options :
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A only

8024373941,

D only
8024373942,

AandD
8024373943,

B and C
8024373944,

Question Number : 86 Question Id : 802437986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FIFOTAT T Mg2t & STHTHA Foa o S ‘A’ it afsr=at=F 1 F=aaa Mg2*
FTT 2T 21 S A’ i afs=af=r F71 9o g =T (UN) 79T Mg2+ &
ST (T) T | A1ad grererzadd (N) F97 T79 st (W) &
3T =M TF FHET TR U Sorivadr (Mut) F form T = e st
‘A’ & TTatertd & 5UTR ® 7% 6 bp =™ & AT9 qo%%d #:4T T =17
TAATIET TR AT 9T #7917 THeTdT 56497 T3, SHFT A9 74

=T =T

A UN T B. N T
T = vl —
Mut[:r : : MutE::ur
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c. UN T D. UN T
WTE; : WEE : =
Mut[:; - Ml.lrE::d - =

UN = siasT=Tted, WT = 3= 9T&T, T = Mg2+ & STFTT &9, Mut =
Cell S A § SeqTvaa Taa Hi9rT, N = 9787 grssteadad, W = 972+
SATTET

Tt S A &7 arfs=afs =7 F=ww %3 99918 (translation) & ¥97 97 2f
== grar 2, 37 ST § | 9 A7 ITa/qrerd T06T % T H57

TET TS FHeaT gl

Options :

FTT A
8024373941.

F9a D
8024373942.

Y

8024373943. ATITD

Ba4ar C
8024373944,
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Question Number : 87 Question Id : 802437987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following statements are made with reference to the replication of

DNA.

A. The eukaryotic counterpart of the bacterial g-clamp protein is
proliferating cell nuclear antigen (PCNA)

B. Mutation inactivating one of the subunits of the Mcm 2-7 complex
negatively affects the initiation of DNA replication in eukaryotes,
but has no effect on elongation of the replication fork

C. All DNA polymerases responsible for replicating the eukaryotic
genome catalyze DNA chain extension in a DNA template-
dependent manner.

D. The FENI protein plays a role in the synthesis of the lagging strand
during DNA replication as well as in base excision repair

Which one of the following options represents INCORRECT
statement(s)?

Options :

B only
8024373945,

B and C only
8024373946.

B and D only
8024373947.
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A.BandC
8024373948

Question Number : 87 Question Id : 802437987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DNA & Jfagd = % #59 | = 7949 I9719 1

A. STETOF p-FATT TTET FT Thleaah 1 THHT FTAT[ FITOHT Fegn 7
gTaee (PCNA) 21

B. Mcm 2-7 THTE/ATERT F TF SUTHS Fl H1o5T Fied AT ST aa
Tt =1 § DNA TEFA= % T2 FT THeds =7 T TIrT 5207
2, TV TART AAFA I 59T & A6 9T HI2 THTT 71 2

C. THTgdhlT AT o T & (o707 Ieqearat a9 DNA Tiea s
DNA =@t & ST 7 DNA FT=T dae 3aa TorTet & Serfva F7d
2

D. DNA Y=+ & 979 FENI| & T9=7THT 759 & 9T 79 21
AT ATOH A=gal AT TATT § TF TATT AT F9d ¢

it 9 & i @1 v% et T FAR/EA1 B 29iar g2

Options :

8024373945.
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FA4A B TFATC

8024373946.

F9 B 74T D
8024373947.

A, BTaarC
8024373948.

Question Number : 88 Question Id : 802437988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following statements are related to transcription in bacteria/

eukaryotes.

A. During concurrent promoter sequence recognition and melting,
melting commences with base flipping where two bases are flipped
out into pockets of the primary sigma factor

B. Binding of a-amanitin to RNA polymerase |l permits entry of
nucleotides into RNA pol Il active site and synthesis of RNA, but
prevents translocation

C. RNA polymerase | can use upstream promoters with 3 consensus
sequences, as well as internal promoters having a bipartite
structure

D. FACT is associated with RNA polymerase during transcriptional
elongation and helps displace histone octomers during
transcription

Which of the following combinations of statements represents all
correct statements?

Options :
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A, BandC

8024373949.

A,BandD
8024373950.

B,CandD
8024373951.

B and D only
8024373952.

Question Number : 88 Question Id : 802437988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T e SaToy/aaean i § Sqerad J F9199 g
A. FITHT THTIE ATHAT A1 TgATH TF 5497 & 1909, FTAT To64T AT0F

T & AT 9= BIAT £ F2T & ATIF 19 (8T FeF & HEvmrar
H T2 AT 2

B. a-THTAEM &1 RNA Tiewet || 7 srave =g aaararzst &1 7997 RNA
pol Il F AT =7t 4T RNA ¥ Teo0T T SqaIad a7 8, 79
FATATALT T AT F2aT 2l

C. RNA T8 | 3 9% A9 F ATF TT AT SHTIF T START
T THAT 2, TTT BT AT T TZATNT FET T ATAH SeATa% H #7|

D. AT a0 % 9 FACT RNA (i8St % a1 995 21 2
TAT ATAGT THHAT & FHT GIFald AZHR & [HAeqTTa= § Jgraar ool

5
|
7]
FAAT T 9+ | A7 I A7 UF e T 7381 FA97 F1 390797 227
Options :
A BTarC
8024373949.
A, BTarD
8024373950.
B,CaarD
8024373951.
Fa B 74T D
8024373952.
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Question Number : 89 Question Id : 802437989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Suresh was bitten by a poisonous snake and was immediately treated
with anti-venom human immunoglobulin and was saved. A year later he
was bitten by the same type of snake second time. Predict his response
to the venom from second bite from the following:

Options :
He will be fully protected from the effects of the poison second time
because he developed adaptive immunity after first snake bite.
8024373953.
He will be equally sensitive as first encounter because there would
be no recall of the first encounter.
8024373954,
There are residual cells or anti-venom antibodies that were
involved in the original/first encounter, hence he will be protected.
8024373955.
There will be memory cells made after the first encounter hence he
will be more sensitive.
8024373956.

Question Number : 89 Question Id : 802437989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Pathfinder Academy

T T TF TE el A1T F SHT TAT TR AA TN T AT T T qTATS g or
T TATS oo TAT o7 TAT| TF 9 & T 96T THE F AT T 39 5770
qTE AT TAT| H=TT § 7 30 7 397 F T997T (99 & T 97 A6
FT TATHTT HTorT|

Options :
g Bt o1 39 & warg 7 T 97 GIierT g1 ST F1E Jg TIT
T F9T & ST AqDAT TIA&T (St w7 o 2

8024373953. :

TE TEA 39T & AATT 2f Aaaefier g F 1% Tgof a97 & ot T

8024373954, Tot a2 v
AT FATAHTT AT AT TIATAT T ST T AT CAH/TIT TF 29T
% R ArdAigd O, HAeaeT ag T iard 75Tl

8024373955.

T IR & TATT T FI9HT T AT, FAFT=T T8 AT
Haaaefter grm

8024373956.

Question Number : 90 Question Id : 802437990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An antigen was injected into a mouse. Macrophages and antigen
primed Tn cells were isolated from this mouse to perform the following
in vitro experiments:

A. Macrophages were treated with the antigen for an hour and then
incubated with Ty cells.

B. Macrophages were treated with paraformaldehyde first and then
treated with the antigen for an hour. These macrophages were
then incubated with Ty cells.

C. Macrophages were treated with paraformaldehyde first then
treated with the digested (proteolytically cleaved) antigen for an
hour. These macrophages were then incubated with Ty cells.

D. Macrophages were treated with the antigen for an hour and then
treated with paraformaldehyde. These macrophages were then
incubated with Ty cells.

Which of the above experiments would lead to Ty cells proliferation?
Options :

A and D only
8024373957.

B only
8024373958,

A, C and D only
8024373959.

C and D only
8024373960.
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Question Number : 90 Question Id : 802437990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T g A T STAT T 39 92 § ° g FAFH] T97 Tiaee 3204 Th
FHSTRTAT Tl T TT=F T 0 F9d & (o Taaga T T=m

A. T TAFTLA F1 T o 7F T2 % form so=rtea G = &7 Ty
FTLHTAT 26 FTA T TATI

B. FET HATTIAT &l Tgel TTHIHICSEIES A STATIA 3T AT FAT T
T HUE & (oI ITaee 7 SUETT AT W7 2 TE9 TAFTEA F T (e
Ty FITSTHTSAT o AT 74T 74T

C. FET AAFTTIHAT &l Tgel TLTHIHICSEIES A STATA 30T AT FAT T
T (TR AT=2F o HatorT) Ioe & TF 992 & =07 ST 151
AT T FZq TAFTLAT 7 (07 Ty FHILHTAT & ATT 7T 7470

D. TET FAFTISA FT TTAAA 7 T T & (o707 STATA T30t 137 747 e
ATHIHICSTEES & SUFNET (9T AT T T8 AAFRTOA H 197 TH
FTOFTAT 3 T TT 4TI

SULTHT e AT T TART Ty FITSTHTAT 3 T T FFTerT FHoa?

Options :

FaT A TATD
8024373957.
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F94 B

8024373958.

Fad A, CTaT D
8024373959,

F9 C T9T D
8024373960.

Question Number : 91 Question Id : 802437991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Three strains of pathogenic bacteria were found to express proteins
mimicking human proteins associated with complement pathway.
Bacterium ‘X' expressed on its surface proteins mimicking Decay
Accelerating Factor (DAF) and Complement Receptor 1 (CR1).
Bacterium Y’ secreted a protein that mimicked protein S of humans and
bacterium ‘Z’ secreted protein that mimicked Factor | activity.

Given below are statements on the possible effect of complement

activation on these pathogenic bacteria. Select the INCORRECT
statement.

Options :

Bacterium X will prevent formation of C3 convertase on its surface

by alternate and classical pathways.
8024373961.
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Bacterium Y will prevent formation of C3 convertase on its surface
by lectin pathway.

8024373962.
Bacterium Z will be susceptible to complement attack by
Membrane Attack Complex (MAC) despite secreting Factor |-like
protein to cleave C3b and C4b.

8024373963.

Bacterium Y will prevent formation of Membrane Attack Complex
(MAC) on its surface.
8024373964.

Question Number : 91 Question Id : 802437991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TIRTSTA ST & o7 THal | TIEAT 60 ATH=a1=F THET T2 S 0F T F
HETAT AT WEHT & AT 2| A= XTI TAg T2 A1 6l ATH=ATh
FEAT g AT 1% &9 /=77 F10F (DAF) T4T 7% TTef 1 (CR1) & 497 21 =717
Y’ T AN H T FIAT g S AT T2 S F AT ¢ T4T ST ‘2 AEi
T FHTAT g AT F0aF [ & Ariaie & 47 2

T AT SAATLAT % T0F T & AT F67 % 917 d A4 55 797
2T T 21 T FAT T AT oo

Options :
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FH oI TAT TEIAH T FT ATET] X 99 79% 77 C3 Frd ool &

=TT T T
8024373961.
AT T T SAAT] Y 99 J9g T7 C3 Fwdasf & (HHI & LI
8024373962.
C3b 4T C4b =1 fa=fer wva & 0 =res |95 T & 519 &
TR AT Z Bredt areT a912 (MAC) & & AwH & (o
FraEaaasie g
8024373963.
SET Y S99 7ag 77 Eedt areT /92 (MAC) & == #7710
8024373964.

Question Number : 92 Question Id : 802437992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Pathogens continuously evolve strategies to evade host immune
responses. For each of the following evasion strategies (listed in column
X) match the pathogen (listed in column Y) which adopts it:

Column X Column Y
A | Changing the antigen expressed | (i) |Influenza virus
on their surface
B | Increasing phagocytic activity of | (ii) | Neisseria

macrophage

C | Developing resistance to (i) | Gram +ve
complement-mediated lysis bacteria

D | Secreting proteases to inactivate | (iv) | No bacteria
antibodies

E | Allowing point mutations in
surface epitopes resulting in
antigenic drift

Choose the correct match

Options :
A — (i); B — (iii): C — (ii); D = (iv): E = (i)
8024373965.
ramoss A= @B = (); C = (iiiy; D = (ii): E - Q)
A — (iv): B — (iii); C = (iv); D = (ii); E = (i)
8024373967.
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8024373968. A= (il); B = (iv); C = (iii); D = (ii); E = (i)

Question Number : 92 Question Id : 802437992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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RT3 TITOAT % TTATeAT WA GRaT ¥ T99 F o7 [y T =
F7d 72T 2| AT Teaw g9 T (FH X F =g 7 HA
TATSAE (FAT Y | TAIGF) T F2 A0 (6 240 AT 3

Faq X FAR Y
A | IR FAEH T ATHEHT TAwA F | ) | TR0 AT
FEATT ATAT
B |FET wewSt A wHwHEv-Ge | iy | 73ERAT
T AT
C | TF TeATT 79 & A A0 | (jij) | TTH TRLAT
fa e (Gram +ve) S=TT
D | Tt =1 AT e & o (iv) | ST srqafera
T T |1
E | #ag vz 7 faeg setaant
A=
TET e 7 79 7
Options :
A — (i); B — (iii): C = (ii); D = (iv): E = (i)
8024373965.
§024373066. A= (i); B = (iv); C = (iii); D = (ii); E = (i)
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A = (iv); B = (ii); C = (iv); D - (ii); E = (i)
8024373967.

8024373968 A= (il); B = (iv); C = (iii); D = (ii); E = (i)

Question Number : 93 Question Id : 802437993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Following are the statements which explain why patients with a-linked
hyper-lgM syndrome express normal genes for other antibody subtypes
but fail to produce IgG, IgA, or IgE:

A. CD40 expressed on B cells is defective
B. CD40L mediates binding of B-cells to T-cells and sends co-
stimulatory signals to the B-cells for class switching
C. Without CD40 on macrophage, class switching does not occur
D. CD40L mediates binding of B-cells to macrophages and sends co-
stimulatory signals to the B-cells for class switching.

Select the option with correct combination.

Options :

A, CandD
8024373969.

A, BandC
8024373970.
8024373971. AandB
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8024373972. Aand D

Question Number : 93 Question Id : 802437993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R 7 49 & Sl (% I =a7ear &9 3 146 41 a-Aaaa dra-IgM s

% FLIS AL AT STTHEN & ATHIA S0 i ATH=a=F Fd g 70 1gG,

IgA, T IgE T STTE4 %74 § dAAT 219 3

A. B FITTHTAT ¥ ATH=AFT 24 a1aT CD40 F(=T0T 2T 2

B. CD40L B-FTTSTaTaAr T T-FITHTAT 7 AT ol HeT=AAT FedT g 747
B-FITSITEAT &l AU-FGeATT & (17 Ag-TTeATEd dehd HoraT 2l

C. FET AAFTA 9% CD40 & 9T |, AV-Tae1TT Al 21T 2

D. CD40L B-SiTsT&l FT J2a AAFHTIAT T AT 1 HeAeTqT F7AT 2
TAT B-FITAHTAT HT LT TGATH & (117 Hg-TTeATgd Fehd Horar 2|
el e aTe FFeT &7 979 57

Options :

A,CTarD
8024373969.

A, BFaT C
8024373970.
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FTT ATATB
8024373971.

T ATITD
8024373972.

Question Number : 94 Question Id : 802437994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

PR proteins play important role during plant-pathogen interactions.
Column X represents some of the PR family proteins and column Y
represents their main properties.

Column X ColumnY
A PR-2 (i) Defensin
B PR-5 (i) Thaumatin-like
C PR-12 (iii) | Lipid transfer protein
D PR - 14 (iv) | B-1, 3-glucanase

The correct match of column X with the property in column Y is

Options :

A — (iv); B = (iii); C = (ii): D = (i)
8024373973.

A — (i); B = (ii); C — (iii); D = (iv)
8024373974.
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A = (iv); B - (ii); C = (i): D = (iii)
8024373975.

8024373976, A = (iil); B = (iv); C = (ii); D - (i)

Question Number : 94 Question Id : 802437994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TAETH-TTS A AT RATar & 279 PR TS T Tgea ol qraaT 9aT
FAT 1 TR X F7 PR THATE & WAL 7 39797 2 47 FHierq Y S0

THA T[T F ZLAT 2
Fiead X FATY
A | PR-2 (i) | T
B |PR-5 (i) | ATSHTEA-Tge
C |PR-12 iy | Ferfere =i T
D |PR-14 | (iv) |B-1, 3-7rFawr

Fieaw X it wfew Y F 7w wwon wrag G 2
Options :

A — (iv); B — (iii); C = (ii): D = (i)
8024373973.
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A — (i); B = (ii); C — (iii); D = (iv)

8024373974,
A - (iv); B — (ii); C — (i); D — (iii)

8024373975,

8024373976, A = (iit); B = (iv); C = (it); D - (1)

Question Number : 95 Question Id : 802437995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Dreisch performed the “pressure plate experiment” to alter the

distribution of nuclei in a 8-cell sea urchin embryo. He obtained normal

larvae from these embryos. Following possible conclusions could be

drawn:

A. Prospective potency of the blastomeres is less than the actual
prospective fate.

B. Sea urchin embryo is a *harmonious equipotential system” implying
that cell interaction is critical for normal development.

C. Prospective potency of the blastomere is greater than the actual
prospective fate.

D. Prospective potency of the blastomere is equal to the prospective
fate.

Which one of the following combinations of statements represents the
correct inference from the experiment?
Options :

A and B
8024373977.
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B and C

8024373978.
B only
8024373979.
D only
8024373980.

Question Number : 95 Question Id : 802437995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T 8-F (9T 1T THGT AT= & 0T H S0 7 el & 270 Bl T A4

FTd & T ‘TATT Tea? YA TohaT| Segid =9 GO | A7 AT 9T

5T Mg JaTiaa Hewd Fearer 97 796 2

A. FEEHEEST Al AT AHHAT ATEA e GT=7 a4t 7 59 gl

B. #HET A=A & T T ATHSGAT ARIa9a Toret g et o {gear g
7 ST FT AT AT ATATT [SFTH & (17 ATTATLTT 3

C. HTEHEET ol ATAT AAHeAT ATEATa® AT Haal o JTe 2

D. ®ITH@EEST Al FTET ThHeAT ATFa e GTaT HadT & 977 2

STIFT FAAT H & AT o7 A7 T Haw 996 7§ Faa agr =ewy/
TReFeT &f Tord 27

Options :
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ATATB

8024373977.
8024373978. Baar C
Fa B
8024373979.
FATD
8024373980.

Question Number : 96 Question Id : 802437996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The continued expression of engrailed and wingless is maintained by
interactions between the Engrailed- and Wingless-expressing cells.
The following statements are given towards the initiation of the
cascade of events that occur for this interaction:

A. The engrailed gene is expressed in cells where neither even
skipped nor fushi tarazu gene is active.

B. The wingless gene is expressed in those cells that contain high
concentration of either Even skipped or Fushi tarazu.

C. Wingless is a secreted protein, diffuses to the surrounding, binds
with the Frizzled and Lrp6 receptor proteins and activates
engrailed gene via Armadillo.

D. Hedgehog protein activates the transcription of engrailed and also
activates its own transcription.

E. Hedgehog protein diffuses from cells and binds to Patched
receptor on neighbouring cells and enables transcription of
wingless gene.

Which combination of above statements correctly represent the
maintenance of engrailed and wingless expression?

Options :

8024373981. AandB

8024373982. BandD
A and D

8024373983.
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CandE
8024373984,

Question Number : 96 Question Id : 802437996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

UFYE TAT [F9era &t Meay A=At Tades 947 Haa #i Jra=aaq

Fve AT FARTAN % A1 0 FeA T 64T ZT2T I 7T Srav | e e

T HEAT F A1 % TTEH & A9% H (G0 A0 AT % 20 AAA 59T F o0

AITed grar g

A. TFYTE SN UH RHTA § ATH=TFT SIAT & STgl (% A7 a7 399 e
T B FA-AUG A AT

B. f@weg s it dfs=af=r I FIAFHTA | ZrAl g foraH 299 TS a7
TS 1-a LTS 1 I=F TATEaT graf 2l

C. farem ww amfag wrdiw g St s-ae e g sar g, fitses a9r
Lrp6 TTET TTETAT & FEAT 2, TAT ATHISAT & ATEAH H TAges ST Tl
AT HeaT 2

D. THEW WA UFYFE & ALA@T &l AT5T Fvdl g TAT ¥99 o dqe@d Fil
AT #feT F7ar 2

E. TSEWT TS FILETeN 7 T=HaTed graT g 47 Haaadl SIerrs 77 =
TTET | FLAT £ TAT [FTe79 SH & SqADA &l GF7 TAT4T £

Tes FaT e 7 afy=at #7990 T F g9y § SUL w91 60
FTe AT T HATT T2 T Fear 572
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Options :

E)

8024373981. Sldits

BaaT D
8024373982.

ATarD
8024373983.

CaaTE
8024373984.

Question Number : 97 Question Id : 802437997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In C. elegans, activation of the CED-3 and CED-4 proteins are essential
for the apoptosis pathway. In addition, gain-of-function mutations in the
ced-9 gene cause its protein to be made in cells that would normally
die, resulting in survival of those cells. Given these facts, which one of
the following diagrams correctly represents a cell death pathway?

Options :
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Apoptosis
8024373985.

EGL-1
¥

CED

3

=

CED-4

L

CED-S

¥ .
Apoptosis

8024373986.
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8024373987.

Apoptosis
8024373988.

Question Number : 97 Question Id : 802437997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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7. A1 (C. elegans ) & CED-3 9T CED-4 FTEA1 &7 ATHTT Tra9T195
FHART o TF & ™0 AQATTE 2| 977 §, ced-9 A & FE-J5
SeATAdA S FHITIHTAT | ATH AL TATAT 2 AT 126 ATH=a4T o &l 97
ZOT; FAeT=T S FHITAFTAT % TOvaT 729 & FE0 a9 | STET T241 %
grerTe 9, fAeita 5 | #0997 UF STt UE w9 §of T H TEmar
T ZerTaT 27

Options :

EGL |

CED-4 |

CED-3
v

CED-9

iy

Apoptosis
8024373985.
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8024373986.

Survival
8024373987.
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Apoptosis
8024373988.

Question Number : 98 Question Id : 802437998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Several marine organism release their gametes into the environment,
where sperm attraction and subsequent events lead to successful
fertilization. With reference to sea urchins, which one of the following
statements is NOT true?

Options :
Addition of resact into a drop of seawater containing sperms
specifically attracts sperms of A. punctulata.

8024373989.
IP5 is formed initially at the site of sperm entry and releases
sequestered Ca®* .

8024373990.

Pathfinder Academy
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Ca?* prevents docking of cortical granules of the egg to the cell

membrane.
8024373991

Inhibitors that specifically block PLCy can be circumvented by

microinjecting IP3 into the egg.
8024373992.

Question Number : 98 Question Id : 802437998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gV T TEE ST AT T BT ATAECT F AT FE a9 3, FHEr 6 T
FATTHIT TAT TIAAT F2AT0 THA A= T A9c7 F2AT gl THAT ATAAT &
T § FA00T FI7 877 7% 99 T21 T8l 572

Options :
TS & T 98 9 | (9" 0 2; s o = BFaa = o
T, %227 (A. punctulata) F STRTITAT FT A-aqTH 9T F2dl gl
8024373989.
LI =9 T ST W9 F T 97 |P3 &7 {uior grar 2, Fo7 at=a
Ca2* &l 59 F7d 2|
8024373990.
Ca2+ AUSTUAT & Fopal HIOTHTAT T TNTAHT oA T § TATI H1 qTiad
FYAT 2|
8024373991.
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TN AT T3 (49T =7 7 PLCy &7 18T F7d 2, Sv2 dAvSTe 7 |P3

Ft T ATAT STAFT (AHe 47 AT TFHAT 3|
8024373992.

Question Number : 99 Question Id : 802437999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major structural characteristic of avian gastrulation is the primitive
streak, which becomes the blastopore lips of amniotic embryos.
Migration through the primitive streak is controlled by Fgf8. What would
happen if the Fgf8 protein, which repels migrating cells away from the
streak, is over expressed in the primitive streak?

Options :
The yolk sac will be deformed.
8024373993,
Wnt signalling will be activated and orientation of the primitive
streak will change.
8024373994,
Cells of the streak will not form the paraxial mesoderm.
8024373995.
Cells generate mesodermal portions of the embryo.
8024373996.

Question Number : 99 Question Id : 802437999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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TS 7T e § Fegwd 7 T GYEATHE [=A9war g, S % o oo #
AT (95 ARV TAAT 3| TS YT & TATAE0 &7 === Fgfg 31er 2T
g\ T ZOIT TF% Fgf8 WA AT o arfs Y77 & 37 FATA1aad a1 FIoraTe H:7
TR U FYAl ¢, SAHT ATS 7T H 359 ATH=AFT 24T JIT?

Options :
fra® ®T =T gem
8024373993.
Wnt HHaw T THA0T T TAT AR @1 BT SATH AT qaeT ST
8024373994.
T T TR SIS T HEATATAL T HHTT A1 FHvAT|
8024373995.
FIAHTT IOT 1 HEATAAEAL T HT AT T07 FHe 31
8024373996.

Question Number : 100 Question Id : 8024371000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Programmed cell death (PCD) plays an important role in development
of barley aleurone. The following statements are made with respect to
involvement of various phytohormones and signaling molecules.

A. Gibberellic acid promotes PCD.

B. Abscisic acid postpones PCD.

C. Cyclic GMP signaling postpones PCD.

D. Nitric oxide scavenger delays PCD.

Which one of the following combinations of statements is correct?

Options :
8024373997, AandC
B andD
8024373998,
A and B
8024373999.
CandD
8024374000.

Question Number : 100 Question Id : 8024371000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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RIS ST o7 a1 TUTE 9 9 (PCD) & Ueg#iq & fH&e § v
& HaE | HE FA9 977 T 2

A. TSsifers s=1 PCD &7 ITeaTied F2aT ¢l

B. wEHITH® 9¥1 PCD &1 [Fat+aa &4 g

C. g GMP ##a= PCD & [Eatsaa &7aT 2|

D. dT=fe= stFaTes aHTes PCD 7t fAerfeag #var 21

FAFT FT AT & T #0997 7% fF=s adm 27

Options :

ATar C
8024373997.

Ba4r D
8024373998.

AT49T B
8024373999.

CT4arD
8024374000.

Question Number : 101 Question Id : 8024371001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following are certain statements regarding nitrogen uptake and

assimilation by plants:

A. Plant roots can take up nitrogen in the form of NO; or NH

B. NH; taken up by plants can be directly assimilated into amino
acids.

C. Amino acids are synthesized exclusively in plastids and chloroplast
of roots and leaves, respectively.

D. NO; can be stored in vacuole of both, roots and leaves.

Which one of the following combinations is correct?

Options :

A,BandC
8024374001.

B,CandD
8024374002.

A,BandD
8024374003.

A, CandD
8024374004.

Question Number : 101 Question Id : 8024371001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T g FOF Tl ZIOT ATZ2r9T & g0 Feed U ATeHATT 0 % 994 H 2
A. YT FT FE AT22eA Bt NO; TAT NH, & ¥&T § Ug0 57 d%4d g

B. 94T 21T U207 FFAT T NH 0T THAT 451 % =9 § JeqaqrT 57
o 4 5

ERIESIGL %’I

C. THIAT AFAT FT FYATT Fae FET U7 ToA1 & HHI: TTH TAT Zoaaa®

REAEAR R

D. NO; &1 H=9 SEl 74T T19=1 &91 & THT=T § 27 7547 2

fal

Options :

A, BTaarC
8024374001.

B,CTartD
8024374002.

A, BTartD
8024374003,

A,CTarD
8024374004.

Question Number : 102 Question Id : 8024371002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Dark grown Arabidopsis seedlings when exposed to ethylene gas
shows typical triple response. Following are certain statements
regarding the triple response:

A. A dominant ethylene receptor mutant will not show triple response
in the presence of ethylene.

B. Tightening of apical hook is one of the features of triple response.

C. Loss of function of multiple receptors will show triple response
even in the absence of ethylene.

D. Increase in hypocotyl length is a feature of triple response.

Which one of the following combinations is correct?

Options :

A, BandC
8024374005.

A, CandD
8024374006.

B,CandD
8024374007.

A,BandD
8024374008.

Question Number : 102 Question Id : 8024371002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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FET T TIATH T TLIASIOAT & FATHL 1 T TIATAT T & 9% H AT

FATAT £ AT AT o aqar g9 2| Weig g #99 Haei=

AFATFATA T2

A. TF THATHT TIATE ATET SeAAdl Uit & Sareqa ® Grode
AAHAT ARl LT

B. HUTT TATAT (TF) FT Fl AT (=TT A 50T 1 v Frerar 2

C. 9= TTEAT & FTEAAHAT @TT il TEEAT T il dqIeaT =
T et s gormm)

D. FIT=TET & @A § T8 I AT 6t U =T 2

=TT & & 19 971 % Ha 951 8 2

Options :

A BTaTC
8024374005.

A, CTarD
8024374006.

B,Ca=arD
8024374007,

A, BTartD
8024374008,
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Question Number : 103 Question Id : 8024371003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 4 Wrong Marks : 1

Calvin—Benson cycle is divided into three phases, namely
carboxylation, reduction and regeneration. The following statements
are related to the three phases of Calvin—Benson cycle:

A.

B.

D.

The product of light reaction, ATP and NADPH is utilized in the
carboxylation phase.

Six molecules of 3-phosphoglycerate is converted into six
molecules of glyceraldehyde 3-phosphate in the reduction phase.

. The action of aldolase enzyme for the production of fructose 1, 6-

bisphosphate takes place in reduction phase.
Formation of seven carbon compound, sedoheptulose-7-
phosphate takes place in the regeneration phase.

Which one of the following combinations is correct?

Options :
A and C
8024374009.
BandD
8024374010,
8024374011. AandB
CandD
8024374012.

Pathfinder Academy
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Question Number : 103 Question Id : 8024371003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Flead-av e 5 J19 A0 AT FIATFTAT ATHIT TAT TS99 J (49779 2|

I T2 Fioa=-awaF =50 & 99 F701 F 999 7 2;

A. TFTIr ATTAT 1 IeATE, ATP 797 NADPH FT ST FTa (e ere F7m
H ZraT 2|

B. STHAF AW | 3-HIFRIRAAE &l F: A § AT 21 ATT 2|

C. ATHAT I | TASIAS TSATEH ol ATHHAT HFerd 1, 6-FFhehe &
IEITET | ZrAT 2

D. TASTITER J¥0 | AT FTAAT AT AT A oA T -7 -FTFHE HT =HH 10T
2T 2

it | & 7 77 U Her 75 572

Options :

4T
8024374009. ATATC

AT
8024374010. B D

ATATB
8024374011.
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CaarD
8024374012,

Question Number : 104 Question Id : 8024371004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A researcher has treated pea leaves with p-chloromercuribenzene
sulfonic acid (PCMBS), which inactivates plasma membrane
transporters. It was observed that phloem loading of sucrose is
inhibited.

Which one of the following interpretations is correct?

Options :
Symplastic loading is eliminated
8024374013,
Apoplastic loading is eliminated
8024374014
Both symplastic and apoplastic loadings are eliminated
8024374015.
Photosynthesis rate is reduced.
8024374016.

Question Number : 104 Question Id : 8024371004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T STTEal § H2T & 9Te & Tl &® p-FA g a e Tohii=aF q¥
(PCMBS) & TUATIY A ToAT, SITeh Y= foredtl Tate® &f Hitwrd %7 <47 2

T TTT AT T G T TITSTE FT207 JI08a g1 FA1ev 2|
AT § o FiI9 1 [S==7 781 27

Options :

* - = -

AT G207 &7 AT g
8024374013,

qIATH T A0 7 FAT g
8024374014,

TATIST TAT ATATHT ATLT ZAT FT (AT 2T
8024374015,

TERTIHIATT F 57 F FHT A0
8024374016,

Question Number : 105 Question Id : 8024371005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The NPR1 (non-expressor of pathogenesis-related genes 1) and two

SA receptors (NPR3 and NPR4) are known to play important role in SA

mediated plant defense. The following statements were made regarding

their role in infected and non-infected tissues of the plants:

A. In the infected tissue, SA binds to NPR3 and induces degradation
of NPR1 to promote cell death.

B. In the infected tissue, SA binds to NPR4 and blocks the
degradation of NPR1 to promote cell death.

C. In the non-infected tissue, SA binds to NPR4 and blocks the
degradation of NPR1 to favour cell survival.

D. In the non-infected tissue, SA binds to NPR3 and promotes
degradation of NPR1 to favour cell survival.

Which one of the following combination of statements is correct?

Options :
A only
8024374017.
B only
8024374018,
8024374019. AandC
BandD
8024374020.

Question Number : 105 Question Id : 8024371005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
NPR1 (TRTSIHA-A=T8T S 1 FT A-ATH=r5a1) T47 a7 SA U=t (NPR3
79T NPR4) w141 § SA F&9#T WiaveT § Hgea ol qraFT AT F79 & o0
ST STAT gl TR HT TAT AAFHHT T & FaH! J gt qramra % a2 °
= o= T T
A. TFEET FAFT §, FIOFT G 7T 7999 7949 & 7 SA NPR3 & 557

NPR1 & S99 FT 9T F:7aT 2

B. #@wHT TA®I |, HUHT o T T9a7 &9 & (70 SA NPR4 & FEF7
NPR1 % STF9 HT ST FH24T 2

C. dO®uT Tadi H, FIAFT Icavsiiaar Hl AANET Fe4 & @0 SA
NPR4 & =57 NPR1 & SATH907 Tl ATTET FeaT 2

D. SEHET TAFI H, FIOFT IeATSaaT FT AT F9 F 0 SA
NPR3 & F%% NPR1 & STHT Fl WTeA FeaT 2|

AT =1 & T #r9 a7 v e 73 22

Options :

FaT A
8024374017.

Faq B
8024374018.
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ATarC
8024374019.

Baar D
8024374020,

Question Number : 106 Question Id : 8024371006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A researcher developed a mutant of Arabidopsis plant where the
function of SLEEPY 1 (SLY1) containing SCF complex has been
disrupted. Which one of the following statements is INCORRECT in the
developed mutant in relation to gibberellic acid (GA) signal
transduction?

Options :

GA will bind to GA-insensitive dwarf 1 (GID1) protein.
8024374021.

A complex of GA-GID1 and DELLA protein will be formed.
8024374022.

The DELLA protein will be ubiquitinated.
8024374023.

The DELLA protein will not be degraded.
8024374024

Question Number : 106 Question Id : 8024371006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T ITTEHAT § TS Ioad UTe FT T SeTvadr (asiag a7 a8 SCF
THTE T SLEEPY 1 (SLY1) &7 &1F JTTea 3| F g Searaadi § rorsliei®
AT (GA) Toae TITHA T TATT HI7 A7 TF T Td 272

Options :
GA GA-IHIET 4T 1 (GID1) I+ T Ferm)
8024374021.
GA-GID1 4T DELLA W& % & THTE FT W70 2ET
8024374022.
DELLA W& TaTagian2 g1 S0l
8024374023.
DELLA T &7 AT F21 29T |
8024374024.

Question Number : 107 Question Id : 8024371007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Loss of a large quantity of blood in an individual due to haemorrhage

provokes many physiological changes which are compensatory and

decompensatory in nature. The following statements describe few

compensatory or decompensatory mechanisms operating in this

condition.

A. The peripheral chemoreceptors are stimulated when arterial blood
pressure is reduced below 60 mm Hg due to blood loss.

B. The cardiovascular centres in the brain stem become depressed in
severe hypotension due to blood loss.

C. The mononuclear phagocytic system becomes depressed during
the course of haemorrhagic hypotension.

D. Renin is secreted from juxtaglomerular apparatus in haemorrhagic
hypotension.

E. Considerable quantity of interstitial fluid may be drawn into
circulation due to Ilower hydrostatic pressure in capillaries
resulting from blood loss.

Choose the option describing only the decompensatory mechanisms:
Options :

A and B
8024374025.

8024374026. BandC

CandD
8024374027.

D and E
8024374028.
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Question Number : 107 Question Id : 8024371007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ST TV A Seaw 219 & ST AT a7 Ao T5i & 2ra 21 7

FAF T ATEAT § FATTT 204 9T 55, AT AT ATTAIF T0AT 7 T009

T 2

A. TS THT HT FHT & FEOT AT THT 1T 60 mm Hg & 7T &A1 ATAT 2
9 Tt Tt ot g 2l

B. TEH AITHAaTT H 797 #T FHI F T EAF 7 H ZFMHT Feg
SR 2T AT 2

C. THFTHTHT ATTTHFASTT & THT THFAFTEHT AATHITTHTHAT T AATLT
2T STat g

D. THFTSTET ACTTFARTT & THT TATHTE qe 7 7o 7 =19 2147 2

E. 79 oTdT & Tea=T HAF § 3o gv = gaeifas 9= &
TN FACTHTIT F=7 & T /AT THH=0T § D= o0 ST 75647 2

SH faFeT &7 FATT T AN F9d AATALLH AT T8 a0l =TT F9d 3.

Options :

ATITB
8024374025.

Baar C
8024374026.
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CaarD
8024374027,

DTaTE
8024374028.

Question Number : 108 Question Id : 8024371008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In high altitude, a number of compensatory mechanisms operate over
a period of time to increase altitude tolerance in humans which is called
acclimatization. The following statements propose these compensatory
changes:

The initial increase of ventilation is relatively small in high altitude
but the ventilation steadily increases over next few days.

Red blood cell 2, 3-DPG is increased.

The blood pH becomes more alkaline.

The oxygen dissociation curve is shifted to the left.

The pH of cerebrospinal fluid is further increased.

Choose the option with both INCORRECT statements:

=

maany

Options :
8024374029. AandB
B and C
8024374030.
CandD
8024374031.
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Dand E
8024374032.

Question Number : 108 Question Id : 8024371008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FfarF SATE 9T, AT H F2 AT TF FIATOTAT T THT Tl & 2127
Fgd gl [V F99 39 I T Faal & Jearad wedl o

A. FTEF FATE T7 AR § TEI9T Telcqil qa-TeH® =7 F F7 gra1
TR AT T TRt § ATEETY a9 o qEAr 2

AT TFT FIT9raT 2, 3-DPG 77 77 2

TFT AT pH ATAF ATIT T ATAT 2

At o TS 726 F1T 99 =g gf «mar 2

TR{EATh #% 557 1 pH 7 SfaF 78 F1ar 2

FT AT FHAAT TTA (0T FT AT o

LUBS A o

Options :

ATaTB
8024374029.

BaaT C
8024374030,

Y
8024374031. CaarD
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DTaTE
8024374032,

Question Number : 109 Question Id : 8024371009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The electrical response of the afferent nerve terminal in a Pacinian

corpuscle (PC), after application of different grades of pressure, are

proposed in the following statements:

A. A non-propagated depolarizing potential or receptor potential is
elicited when small magnitude of pressure is applied to PC.

B. The magnitude of receptor potential is increased as the pressure to
PC is increased.

C. An action potential is generated when receptor potential attains a
critical value.

D. The receptor potential shows all-or-none response.

E. The receptor potential is not a graded potential.

Choose the option with both INCORRECT statements:

Options :

A and B
8024374033.

BandC
8024374034.
8024374035. CandD
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D and E
8024374036.

Question Number : 109 Question Id : 8024371009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

=TT T9AT | =19 FI1E % Tq791 & A9TanT & T997d T Tewaq
T (PC) & arlramet afera sime =7 Frepdi wiafear #1 faes woet &

qEATTaT 3T 74T 2

A. I PC 9T ST T FT STaT9 @7 16T & a7 UF J-TATHT (a5
[EEERIB IR TR IR

B. SH-I# PC 97 17 9%AT 2, THT AT | UTel (9= FHT THTT TEAT

A

C. 5= UTET =29 U= Fifas A9 ITeF F7 4T g 97 T BT =397 370
R

D. wTET =9 gt-srqar-are off T2 waeaT serar g

E. UTET fras U% ®i8s =999 731 2

THT T FAAT JT =weT & AT T

Al

Options :

AT9TB
8024374033.

BaarC
8024374034.
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CaarD
8024374035.

DTATE
8024374036.

Question Number : 110 Question Id : 8024371010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

cGMP is produced from GTP by the enzyme guanylate cyclase which

exists in soluble and membrane-bound forms. Following statements are

made related to signaling molecules that are associated with cGMP

signaling cascade.

A. Atrial natriuretic factor causes natriuresis and diuresis by
interacting with membrane-bound form of guanylate cyclase.

B. Nitroglycerin causes smooth muscle relaxation and vasodilation by
interacting with soluble form of guanylate cyclase.

C. Nitroprusside causes smooth muscle relaxation and vasodilation
by interacting with membrane-bound form of guanylate cyclase.

D. Atrial natriuretic factor causes natriuresis and diuresis by
interacting with soluble form of guanylate cyclase.

Which one of the following combinations is correct?

Options :

8024374037. AandB
BandC

8024374038.
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8024374039. CandD

8024374040. pand b

Question Number : 110 Question Id : 8024371010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

THTEH [aATAde arzFas o & gomedia qa7 et aag a9 |

e 21a 8, I 3T GTP & ¢GMP &1 MR =T smar 21 Feitea

FAA FehaAw AUAT % HEH F FATAT T4T g AT 136 cCGMP Fohaw T | dAa18d

ARRd

A. TEredt arag T=T T TATAAS ATZFAS T AT AT Fvoh TS0
FTAATSITTAAAT FEH ATAATSATLAAAT TIT TIAFT 3o9+ Fi7d 2|

B. ToAefter T=T a7 [ATHAE TATZFAST T AT Foh ATSZIeTaTeT
T geft forfaeraT Far FrEAT Fen ger #9a 2

C. ToredT arag =& a1 AT ATSFAST & AT HAT T0
ATzargEATEe JAO geft fAtAeraT quT arieAt Fener s #a 2

D. FaAefe F=T JT TAHAZ ATZHFAT F AT AT Tl TA ST
Fiaa=Tq Taaar wew AaaeaTTTAAdT AT TAAAT 30T+ F7d 2

e |§ | FI1 A7 UF (WA 721 27

Options :
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ATITB

8024374037.

Baatr C
8024374038.

CaarD
8024374039.

ATaTD
8024374040.

Question Number : 111 Question Id : 8024371011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Kallmann syndrome generally exhibits gonadal dysfunctions in males.
Following statements are made relating to such males.

A. They mostly suffer from hypergonadism

B. They mostly suffer from hypogonadism

C. They have higher level of circulating gonadotropins

D. They have lower level of circulating gonadotropins

Which one of the following combinations of statements is correct?

Options :

A and B
8024374041.

BandC
8024374042.

Pathfinder Academy
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8024374043. BandD

AandC
8024374044,

Question Number : 111 Question Id : 8024371011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FTH ST =01 § ATL0EAT S97 2T SFHIIAT Z979 21 U7 =01 &
J¢ ¥ =7 o 97T 72

A. T AT At g=aTar 7 T T 29 2

B. T AT A" U-Aaar & = gra 2

C. SHH TVHEAT MHSIEMTw &f 359 #a7 gdT 2|

D. S8 TEATI TSI %[ F5 ¥97 g7 2

FAAT FT AFATo0 DI AT U 5T T80 57

Options :

AT
8024374041. ATITB

BaarC
8024374042.

)
8024374043. BT

ATarC
8024374044

Pathfinder Academy
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Pathfinder Academy

Question Number : 112 Question Id : 8024371012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The discharge patterns in a single afferent nerve fibre from carotid
sinus at various levels of mean arterial pressure (MAP) are plotted
against changes in aortic pressure with time in the following figure:

Phasic
aortic
pressure

S

b |
o

8

>

Mean Arterial
Pressure (mm Hag)

3

T I | 1 I
1] 05 1.0 1.5 20

Time (s5)

The following statements were proposed from the above figure:

A. Baroreceptors are more sensitive to phasic change of aortic
pressure at normal MAP

B The baroreceptor firing rate is reduced at lower MAP than in
normal MAP

C. The phasic change in baroreceptor fibre is less prominent at lower
MAP
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D. A burst of action potentials appear in a single baroreceptor fibre
during diastole at normal MAP

E. The discharge of baroreceptors even extends to systole at higher
MAP

Choose the option with both CORRECT statements:
Options :
A and B
8024374045.

8024374046. BandC

8024374047. Capd D

8024374048. DandE

Question Number : 112 Question Id : 8024371012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T U FeTES AT & ATHATel AT avq § Maq 9117 g1 (MAP)

TV THT T AT WETHEAT AT & ATT SeA A TAeT o A= ST T
TFHT%I:

Phasic
aortic
pressure

)
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8

SIS YT o 5wt weAra T AT T

A. FTHT=T MAP 97 STEATEAT HETEHAT S9T9 % TTae4T Taa & Jid
afers Fa4t 2 2

B #ATHT=T MAP &7 =T d 99 MAP 9% STaUTEr HAIT 57 75 219 2

C. ™= MAP 97 STEITET avq § YTFeqT Teaad 7 Id 21d 2|

D. ATHTT MAP 97 ST % ST T T STeilTgl avq | AT (a9
FT & TERIE I+ gral ¢l

E. 5= MAP 9% TSR FT S9a799 T5=99 a5 |1 Feaqried 27 Jmar 2

ZHT TET FAAT JTe (4o T & AT F9

Options :

AT9T B
8024374045,

Ba4T C
8024374046,

Pathfinder Academy
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CaarD
8024374047.

DaaTE
8024374048.

Question Number : 113 Question Id : 8024371013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



The figure below represents a profile of DNA markers in two parents
(P1 and P2), progeny (F1) from a cross between P1 and P2 and that of
gametes produced from F1. Eight different patterns (DH1 to DH8) were
observed in case of gametes. The numbers below, DH1 to DHS8 indicate
the number of individuals observed in each case

DH1 DH2 DH3 DH4 DHS DHe DH7 DHE

ﬂ_e—

Based on the above observations, the following statements were made:
A Markers ‘b' and ' are likely to be allelic in nature
B Markers ‘c’ and ‘d" are linked in frans with a map distance of 24 cM
C Marker 'b‘ assorts independently from marker ‘c*

Which one of the following have a combination of all correct
statements?

Options :

Pathfinder Academy
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A,BandC

8024374049.

A andB
8024374050.

A only
8024374051

C only
8024374052.

Question Number : 113 Question Id : 8024371013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy
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& o9® (P1 9T P2), a9 (F1) A P1 aT P2 F i v Aeor 941 F1 &
o7 TAET % DNA =1 & TR &1 A1 397797 T4T 3| TTHHT & ATHA
T (DH1 & DH8) @r= 59— wie=7T =3 7= DH1 & DH8 & = &7 #wears

Te% HTHA § =AAHAT &f 9T 2

DH1 DH2 DH3 DH4 DH5 DHG DH7 DH3

SILIHFT ATATTAT & AT TT 7+ F99 4714 T4

A =g b TAT ' =TT THEAFT TH i F 2l
B f==# ‘¢’ 797 'd'T% 24 cM F "M== 1 & a1 Zia (Foe) agew=+r

z
C === b =e® ¢ ' ¥ ¥=9a9 =7 & 474 ad gl gl
Mg & % § T 727 F4491 57 FHa= 22

Options :

Pathfinder Academy
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A, BTaTC
8024374049,

ATATB
8024374050.

FTT A

8024374051.

Fad C

8024374052

Question Number : 114 Question Id : 8024371014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A species of plant (species 1) is diploid (2n = 6) with chromosomes
AABBCC and a related species (species 2) is also diploid (2n = 4) with
chromosomes PPQQ. The following statements were given by students
regarding the chromosome numbers involving these plant species:

Autotriploid of species 1 will have 12 chromosomes

Allotetraploid involving species 1 and 2 will have 16 chromosomes

A monosomy in species 1 will generate 5 chromosomes

A double trisomy in species 1 will generate 8 chromosomes

A nullisomy in species 2 will generate 2 chromosomes

moowx

The combination of statements with all correct answers is:

Options :

Pathfinder Academy
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A . BandC
8024374053,

B, CandD
8024374054,

C.Dand E
8024374055.

D,Eand A
8024374056.

Question Number : 114 Question Id : 8024371014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g1 TS TSATTAAT 7 TTHA F9dh Uk I 7 3% 0T 7 G197 |

A= o weqa &

A TeTie 1 % FEEgioTT | 12 IO g

B AITHIMOTE (oH T 1 TAT T 2 TTHA g, IAH 16 IO 2
C AT 1 ® TF THAT 5 IO T~ FH|

D WS 1§ UF SIgeT TR 8 T SoTwT HeTT|

E WO 2 ® & 97t 2 U Seaw HedT|

T TET Teavl a1 FAAT HT /AT 2

Options :

Pathfinder Academy
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A, BaarC

8024374053.

B,CTarD
8024374054

C,DT4TE
8024374055.

D, ET4T A
8024374056.

Question Number : 115 Question Id : 8024371015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy
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Curled wing (cu), ebony body colour (e) and sepia eye (se) are three
recessive mutations that occur in fruit flies. The /oci for these mutations
have been mapped and they are separated by the following hypothetical
map distances:

cu e se

A
w
_
L
W
—

20 cM 12 cM

The interference between these genes is 0.4.

A mutant cu e se fly was crossed with a homozygous wild type fly. The
resulting F1 females were test crossed that produced 1800 progeny.
What number of flies in each phenotype class is likely to be obtained in
the progeny of the test cross?

Options :

Non recombinants will be 1250; single crossover between cu and e
334; single cross over between e and se 190; double cross over

26
8024374057.

Non recombinants 1181; single crossover between cu and e 360;

single cross over between e and se 216; double cross over 43
8024374058.

Pathfinder Academy
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Non recombinants 1198; single crossovers 576; double cross

overs 26

8024374059.
Non recombinants 1233; single crossover 524; double cross over
43

8024374060.

Question Number : 115 Question Id : 8024371015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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TS g1 T (cd), I (T3 TTF I () 747 ML Fr (i) 7 (se)
T el FHFET B T A AT 719 AT SeTa94 gl 37 Seavad+t &
Aoty 7 A= BT T4 97 F Fe Freata® A 510 7 Faf
T

cu e 58

|: 20 cM : | 12 cM

T ST & &1 AT 0.4 2
TH ITATT cu e Se TFdT &1 T UF AHIHTs ] F=99+7 "erd 1 o foar

T TTOHT F1OHTSTr 7 T3 THH0T F20AT 17 f5EE 1800 data=t
eI g2 I TLATH TEEI AT FATAAT § TeAE AAUTET A0 H AT
il &l Tt 7T g

Options :
FTAANTS 1250 BT, cu TIT e & 1= v 97 334; eTqT se &
f= T EfRET 190; BEEET 26

8024374057

Pathfinder Academy
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FEARTS 1181; cu 9T e & H= vHar fAR7T 360; e T97 se & =
THd [AEET 216; BT 43

8024374058.

FIAINTST 1198; T A= AT 576; BEET 26

8024374059.

AT 1233; TEd FA=ET 524; BEAEET 43

8024374060.

Question Number : 116 Question Id : 8024371016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In some sheep, horns are produced by an autosomal allele, ‘H’, that is

dominant in males and recessive in females. H'H" individuals are

hornless. A horned female is crossed with a hornless male. One of the

resulting F1 females is crossed with a hornless male. What proportion

of the male and female progeny of F1 will have horns?
Options :

50% of male and 50% of female progeny will be horned

8024374061.

50% of male progeny but none of the female progeny will be

horned
8024374062,

Pathfinder Academy
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25% of male and 25% of female progeny will he horned
8024374063.

100% of male progeny and 50% of female progeny will be horned
8024374064

Question Number : 116 Question Id : 8024371016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g HE1 A, HT 7 WA UF At TR Emedt HO# gar g, S & A
q TATET § TAT AR § FUATAT 21 HHH s=qn #iw @3 21 vw A
HTET T THFO TF HAATa(g 77 & FH0Ar 4971 F1 F 97 0 q7ar aqra4ar 9
HTT gie ot FAT AT AT g2

Options :

ATt ® 50% FF F FAT 50% ATETAT | T ZiT

8024374061.
Tqataat & 50% 7 ® #w i wig T oft grar gatear § #iw aE
ARl

8024374062.
AT & 25% 791 § TAT 25% HTETAT | T 20T

8024374063.
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100% A% "afaai | 4T 50% |1 A= § H1T 21|

8024374064.

Question Number : 117 Question Id : 8024371017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Body weight of rabbits is determined by pairs of alleles at two loci, "a
and b, that are additive and equal in their effects. Rabbits with
genotype a~ a b~ b~ have average 1 kg body weight, whereas
individuals with genotype a* a* b* b" have animals that average 3.4 kg
in weight. A male rabbit with a a~ b~ b™ is crossed with a female of
genotype a* a* b* b*. What will be predicted average weight of F1
progeny of this cross?

Options :

2.2 kg
8024374065.

1.6 kg
8024374066.

1.2 kg
8024374067.

2.8 kg
8024374068.

Question Number : 117 Question Id : 8024371017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Pathfinder Academy
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Correct Marks : 4 Wrong Marks : 1

FIATL & 9017 T T &l (Aeqel T¢ SO TRiamedrat g 497 b’ 7
TeTea graT g, I & T 2 T97 999 971 § TAHIEr 20 AAa=T 0 a
b~ b~ TTA T T ST AT H Toi7 1 kg &, Fa(% a* a* b* b* SAA=T
FTer AT T AT AT Fo7 3.4 kg 1 TF ¢~ g~ b~ b~ FATET 1A 7%

FEATTST T T T ¢* ¢* b* b* SAT=T JTel AT&T  FEET TAT| T THH0T
% F1 AFTaAT &7 AT FAAT T4 q77 F97T ZET?

Options :
2.2 kg
8024374065.
1.6 kg
8024374066.
1.2 kg
8024374067.
8 kg
8024374068.

Question Number : 118 Question Id : 8024371018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy
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E coli cells were simultaneously infected with two strains of phage .
One strain of 1 had a mutant host range, is temperature sensitive and
known to produce clear plagues (genotype h st c¢); another strain of A
carried the wild type alleles (genotype h*st* ct). Progeny phages were
collected from the lysed cells and were plated on bacteria. The
following numbers of different progeny were obtained.:

Progeny phage genotype Number of plagues
e st

h* ¢ st
i ¢ st
h ¢.st
h* ¢ st*
he sf
h e st
he" st

350
86
4
300
90
6
114
50

What will be the order of the three genes and the map distance

between them?

Options :
36cM € 15cM &
8024374069. 2 2
i 1 st
21icM 15cM
8024374070.

Pathfinder Academy
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: st C
21cM 15cM
8024374071.

: C st
36cM  ococM

8024374072.

Question Number : 118 Question Id : 8024371018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy
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E coli FTTIRTLT &7 THATT A ST % 27 IS T TR HT F4097 T371 1 F TF
THE § T Jeqeard TEAral =edre 2, T8 a17 J4&71 g TAT a6/ T4
(SHAYET h st ¢) A & @7 FET AET g; TF §AC 4 T98 § TA9ET
THEFEET 8 (AT=T htst* ¢*)| Tt =AFISFT & Taa worwra o
T 3T T F4T Sstrare 7 St @A m@teve qataat o Fe

Progeny phage genotype Number of plaques

ht et stt 350
h* c st 86
(R 4

h c st 300
b esE 90
h c st 6

W s 114
h =5t 50

T ST =T FH TAT SH A7 A HIATHAT g1 FAT g2

Options :

t

1 = 5
36cM  15cM
8024374069.
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C h st
21cM  15cM

8024374070.
st C
21cM 15¢cM
8024374071.
C st
36cM oocM
8024374072.

Question Number : 119 Question Id : 8024371019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The three domain classification of life proposed by Carl Woese divides
life forms on the basis of

Options :

mitochondrial DNA and membrane structures
8024374073.

ribosomal rRNA and protein sequences
8024374074

mitochondrial DNA and protein sequences
8024374075.

presence of single or double membranes
8024374076.

Pathfinder Academy
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Question Number : 119 Question Id : 8024371019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tl A FIET TATTST o0 T4 STaH 3 d0 WA J3 a0 S Fa=a7 &

7 & e O7 = e w5

Options :

e DNA 747 fBreat dv=ar
8024374073.

T & rRNA T9T TEH aq7d
8024374074.

AT DNA T9T T1E9 da9F9
8024374075.
8024374076.

Question Number : 120 Question Id : 8024371020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Appendix masculina is found in
Options :

second abdominal appendages of male palaemon
8024374077.

Pathfinder Academy
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second maxillipede of male palaemon

8024374078.

maxilla of both sexes of palaemon
8024374079.

mandibles of male palaemon
8024374080.

Question Number : 120 Question Id : 8024371020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Options :
8024374077, et % fadT s s
77 Gfer\ta & fBdT saTeT
8024374078.
.q.ﬁrq_ﬁ‘ S L ‘E\ﬁ = ﬁ;' F%ﬁﬁqﬂ'
8024374079.
8024374080.

Question Number : 121 Question Id : 8024371021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy
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Select the correct statement. The bark of a woody plant is collectively
made up of the following tissues:

Options :
primary phloem, primary phloem fibres, pericycle and periderm
8024374081.
primary xylem, primary phloem fibres, stem cortex, rays, and
periderm
8024374082.
vascular cambium, rays, pericycle and periderm
8024374083.
secondary phloem, secondary phloem fibres, stem cortex,
pericycle and periderm
8024374084.

Question Number : 121 Question Id : 8024371021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TRl T FT IATH T2 | TF FI01T TG T T8 TEATd & 8 45 St
H TAT AT 2

Options :

AR TOaTg, TTAHF TaaTg aeq0, T 797 7=

8024374081.

Pathfinder Academy
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TTATHE &7 (AT2AH), ITATHE TIGTg q7q0, T97 o4, A7 47 TVaq

8024374082,
8024374083,

aaa® T9aTg, BEs T9ETg aeq0, 97 o2, TS 97 T=Eq
8024374084,

Question Number : 122 Question Id : 8024371022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a list of plant species and reproductive forms:

Plant species Reproductive form
(1) Gingko (a) | Monoecious
(i) Conifers
(iii) Poplar
(iv) | Maize (b) | Dioecious
(V) Date palm
(vi) | Mango

Which one of the following options correctly matches all the given
plant species with their reproductive forms?

Options :

a = (i), (iii), (v); b = (ii), (iv), (vi)

8024374085.

Pathfinder Academy
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8024374086.

8024374087.

8024374088.

a = (i), (i), (v); b = (i), (iv), (vi)

a = (ii), (iv), (vi); b = (i), (iii), (v)

a = (iii), (iv), (vi): b = (i), (ii), (v)

Question Number : 122 Question Id : 8024371022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ST TTET i TSI FAT SF TS TH T 0 UF TAT & T4 2

ITET TS EECERCIE
(i) |
(ii) 9@&1' (a) THFTAT
iy | AT
(i) ¥
(v) |TT (b) | TARTerIT
(vi) | 5TH

=it &1 =7 v FeeT 20 70 areT gt i I 0 ToeT 15T #

Pathfinder Academy
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Options :

a = (i), (iii), (v); b= (ii), (iv), (vi)

8024374085.

a = (i), (i), (v); b = (iii), (iv), (vi)
8024374086.

a = (i), (iv), (vi); b = (i), (iii), (V)
8024374087.

a = (iii), (iv), (vi); b= (i), (ii), (v)
8024374088.

Question Number : 123 Question Id : 8024371023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a list of natural disturbances.

Coral bleaching

Rising sea levels

. Shifts in species distribution
. Lowering of sea levels
Increase in glacial sheets

moow»

Which one of the following combinations of disturbances can be
attributed to global warming?

Options :

A, DandE
8024374089.

Pathfinder Academy
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A, BandC

8024374090.
B,CandE
8024374091.
C,Dand E
8024374092.

Question Number : 123 Question Id : 8024371023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S s At 7 7 T aE A T 2

A. JaTe fEvA

B. Az a7 ¥ i

C. WAl % =av0 § Iad

D. 795 aa § FAT

E. fEwmat &t |meet & Fureaiy

o=t % FAT0rT F19 F TF A1 &1 005 qTI9TG15 o ST 7 T5HaT 572

Options :
8024374089.

A, BaarC
8024374090.

Pathfinder Academy
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B, CdaTE
8024374091

C,DTaTE
8024374092.

Question Number : 124 Question Id : 8024371024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

To study the effect of temperature on seed germination, 16 seeds of a
plant species were selected for an experiment. A total of four
temperature treatments were provided to sets of four seeds to study the
onset of germination. What would be the within, between and total
degrees of freedom, respectively, in an analysis of variance?

Options :

3,15and 18
8024374093,

16, 4 and 20
8024374094

4, 16 and 20
8024374095.

15. 3 and 18
8024374096.

Question Number : 124 Question Id : 8024371024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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TS AFHEOT T ATTHIA il THATT T AETTH Feed & (77, TF 5T T % 16

ST FT AT TF AN F form T T m SgT & T W ALTAT FOA T
o SiST F =7 T T T AT ATTHATAT T ST (o A v AT
& THeorTor | R ST, WeT T AT TT wATE AT At AU T4 ZEA?

Options :

3, 15F47 18
8024374093.

16, 4 741 20
8024374094.

4,16 741 20
8024374095.

15,3 9497118
8024374096.

Question Number : 125 Question Id : 8024371025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The following information refers to ecological interactions.

Column X Column Y
A | Bass introduction into (i) | Bioaccumulation
aquatic systems
B | Beavers (ii) | Aposematism

C | Sea bird (such as puffins) | (iii) | Keystone species
D | Yellow and black stripes (iv) | Trophic cascades
in a wasp

Which one of the following options represents the correct match
between column X and column Y?

Options :
rairangy A= (B = (0); C= (iii); D= (V)
A — (iv); B — (iii); C — (i); D — (ii)
8024374098.
A — (ii); B = (i); C = (iv); D = (iii)
8024374099.
A — (iii); B = (iv): C = (i); D — (ii)
8024374100.

Question Number : 125 Question Id : 8024371025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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fAeifena AT TR a® ST AT B godd Hedl g

Frad X Fiaq Y
FATT T F T AHTATE F01 (i) | SEE=E
Fataara (i) | ATIHELT
TR 7T (S T ave) (iii) | e TSI
T AT F ATAT TAT AT AT | (jy) | TIHT ATATA

OO0 || >

fFATTea & & &19 a7 U& [A%eT fiaq X T47 Fiaq Y & 9 57 T21 9a
TITAT 87
Options :

A — (ii); B = (i); C — (iii); D = (iv)

8024374097.

A — (iv); B = (iii); C = (i); D - (ii)
8024374098.

A — (ii); B = (i); C = (iv); D — (iii)
8024374099.

A — (iii); B — (iv); C — (i); D — (i)
8024374100.

Question Number : 126 Question Id : 8024371026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

A large patch of forested area was devastated by raging fires. After
some years, the area was found to recover its species. Which one of
the following options best describes the process of re-establishment in
the area?

Options :

mosses and lichens — grasses — shrubs and small plants —
woody trees

8024374101.
grasses — woody trees — herbs and shrubs —mosses and
lichens
8024374102.
woody plants— lichens and mosses — herbs and shrubs
8024374103.
grasses— herbs and shrubs — woody trees
8024374104.

Question Number : 126 Question Id : 8024371026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ST T T TST T Feaamsm T S0 7 T97g 21 T97| F 91 F 19979, =7
THWT | TSI T/ & 99T 147 47| A1 9 & &9 67 UF =F@meq =9
AT F I AIEEATIAT FT TAeq9 =T T T F9a1 27

Options :
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FTE TAT ATZHA — AT — TATSAT TF Gl 9T — FT3T T

8024374101.

qTH — TS T — 9T TAT ANSAT — FIE TAT ATZHA
8024374102.

FTCSIT G186 — FTE TAT ATIHA— 91T TAT AT
8024374103.

qTH > 9T TAT ATSAT - FTEST T
8024374104.

Question Number : 127 Question Id : 8024371027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to the classical Lotka-Volterra competition model, which of
the following conditions allow for co-existence of two competing

species?
Options :
both species are equally capable of inhibiting each other
8024374105.
intraspecific competition of each species > interspecific
competition
8024374106.
intraspecific competition < interspecific competition
8024374107. ' ' h O '
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there is no intraspecific competition in either species
8024374108.

Question Number : 127 Question Id : 8024371027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T AEHT-ATeavT A TRaT (Hael & AT, Weirea J 7 FiF &7
TR ToaT &7 TR TS oAl & Ag-ATeaed H T TaTT FHeafl?

Options :

T TATTAAT T TAY Tl ATTCME Foed & (70 TH =T F 79497 5
8024374105.

T TATA FT ATTTSATS ITAT AT > AT A= 2rar
8024374106.

AT TTAATET < AT T 3aT
8024374107.

et T TSI | AiaeATie WA AT qgt ar
8024374108.

Question Number : 128 Question Id : 8024371028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Co-existence of several species of birds in an area is possible under
the following conditions

Options :
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High niche overlap and high niche differentiation

8024374109.

Low niche overlap and high niche differentiation
8024374110.

High niche overlap and low niche differentiation
8024374111.

Low niche overlap and low niche differentiation
8024374112.

Question Number : 128 Question Id : 8024371028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2T T AT T AT o7 % 97 F§ AgAAided = T eqq § 999 2

Options :
8024374100, T Ferd Ffer=amTs 747 Ja R Fass
e e srfarsras 79 wee e frdee
8024374110.
gerer T Afe=maa g7 7w e faaee
8024374111.
e e s 79 e e rdee
8024374112.
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Question Number : 129 Question Id : 8024371029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are the possible reasons of high probability for extinction
of species:

(i) Increased homozygosity of alleles

(ii) Increased heterozygosity of alleles

(iii) Decreasing population sizes

(iv) Increasing demographic stochasticity
(v) Decreasing environmental stochasticity

Which one of the following options represents the correct combination
of reasons that can lead to the highest probability of extinction of

species?
Options :
(i), (iil) and (v)
8024374113.
spasranne, 0 U and G%)
(i), (ii) and (iii)
8024374115.

(ii), (iii) and (vi)
8024374116.

Question Number : 129 Question Id : 8024371029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
AT & (oo B 3 359 AHTIAT & THT=T FIEHT Tl A1 Teqd 1947
TATE
(i) TRTEAFAT 6 399 TR T
(i) FRTAFedaT & = oA e
(i) FATE ATHTT FT FH g g7
(iv) STHETTTHT T aT=aaT &1 a5 T84T

(v) et SersT=TaT 1 #7 2 T

TeATTa | & F17 A7 UF [HAdeT FIH] 5 2% 5 F T=199 F7aT g o 15
TSTAAT & (Ao g ®f A= J AT B0 o117

Options :

(i), (iii) 74T (v)
8024374113.

(1), (iii) 4T (iv)
8024374114

(i), (ii) =T (iii)
8024374115.

sorarats. ‘) S ()
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Question Number : 130 Question Id : 8024371030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Distance matrix of five species A to E is given below.

A | B (|G| B|E
A | O
B | 2 | @
& | 8 |8 | 8
D| 10 | 4 | 8|0
E | 8 & |« 3|4

Which one of the following topologies represents the accurate species
relationships among species A to E if UPGMA clustering method is
used for the given data?

Options :

|7.5

[2]
B

A C

8024374117.
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|7.5

5.5
(2] | [3]
8024374118. R i
7.5
2D
[2]1  [3]
A B D EC
8024374119.
I
5
9:9
[2] [3]
A B C D E
8024374120.

Question Number : 130 Question Id : 8024371030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T T TT A & E #F s ar=gg = ffraw g

A | B || B|E
A | O
| 2 | @

& | &8 | A2 | B
b| 10 | 4 | 8|0

E| 8 | 6 | 4|30

ats 37 70 swst F o UPGMA 59E =TT T S99 [T 34T 9 a1
fAr=ita o & Fi o7 UF qiteaty awiaat A 7 E F Fi 1 a8t g

HEEAT T =9T9T 272
Options :
|78
9.9
| 2]
A B C

8024374117.
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|7.5

5.5
(2] | [3]
8024374118. R i
7.5
2D
[2]1  [3]
A B D EC
8024374119.
I
5
9:9
[2] [3]
A B C D E
8024374120.

Question Number : 131 Question Id : 8024371031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The figure below shows a gene duplication event followed by a
divergence event in species 1 and 2.

White colour

_‘__f_|_ Ancestral gene

I Gene duplication
Different colour
/ \Eumutimaw Divergence

Based on the details given above determine what is represented by A
and B

Options :
A : duplicated genes; B: ancestral genes
8024374121.

A : paralogs ; B: ancestral genes
8024374122,

A : orthologs; B: paralogs
8024374123.
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A : paralogs; B: orthologs
8024374124

Question Number : 131 Question Id : 8024371031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e Y= T 1 47 2 ® UF S A aT aeTeST UE S
TEAT Tl AT 2

White colour

7
— 1 L Ancestral gene

l Gene duplication

Different colour

/ Evolutionary Divergence

SIS (R0 0 Fega fFEe0 % srame 9w A 797 B & HEr #i9

Options :
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A : Tparg = st B: T3 o

8024374121.

A : T B: T oA
8024374122,

A - FAITATE: B: T
8024374123,

A : BITATI: B: AT
8024374124,

Question Number : 132 Question Id : 8024371032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Felsenstein zone in a phylogenetic tree refers to a region of tree
space where,

Options :

maximum likelihood would be inconsistent
8024374125.

lineages converge due to shared common ancestry
8024374126.

outgroups relationship is influential
8024374127.

maximum parsimony would be inconsistent
8024374128.
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Question Number : 132 Question Id : 8024371032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T ST FAGH H Tod a4 97 THA-FATH1N UH THT T Ioold F7aT ¢ 9l

Options :
ATEHTH TAT=AAT FET ZHIT|
8024374125. '
TEATST SHATHTS TLTAAT & FHTLIT FT FTHALIT]
8024374126.
FATEHE TAEAT TATTTAT 2T
8024374127.
FTEHaH FIOTAT FETT ZAM|
8024374128.

Question Number : 133 Question Id : 8024371033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Creationism is rejected by evolutionary biologists because

Options :

it offers no explanation about the origin of adaptation
8024374129.

it suggests that all species descended from a common ancestor
8024374130.
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theologians have not settled on a date for the origin of life on earth
8024374131.

supernatural events have not been shown to be very common
8024374132.

Question Number : 133 Question Id : 8024371033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FrsTaTeRs SatasT=at ZT reaTs & Ae 1 (97 Jrar 8, F+

Options :
g ALTATT 1 IeATT 6 HEH A Hlg A TT= B0 TG 751 FedT g
8024374129. ' '
T FEATAT T g B wft genfaar v e e @ F F9w )
8024374130.
gaeTERT (Frarartera) 7=t 77 sftaw &t 3o & 3 |§ vs Aty
FATIOT A2l %7 T4 2|
8024374131.
AR T2ATAl FT 5T ATAT 2HT A2l (S@TAT FT 7T 2
8024374132.

Question Number : 134 Question Id : 8024371034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are proposed analogous structures among organisms.
A. wings of birds and bats

B. wings of bats and tetrapod digits

C. tendrils of vitis and tendrils of pumpkin

D. tubers of potatoes and sweet potatoes

E. fins of fish and flippers of a whale

Which one of the following options correctly states the analogous

structures?

Options :

A . CandD
8024374133,

B,Cand D
8024374134,

A.CandE
8024374135.

A.DandE
8024374136.

Question Number : 134 Question Id : 8024371034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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ST H 9T S AT TR AT ATl ACAATA A (24T 4T
A. T TAT AHATEET & T

B. IHATEST AAT JTTTAT a1 ST

C. ATEEH F TATT 74T F55 F a7

D. e T9T H1S ] F &%

E. H0e9@ 4T 91 & qHAT (TFerTe)

Options :

A, CTarD
8024374133.

B,CaarD
8024374134,

A, CTaTE
8024374135,

A, DTITE
8024374136.

Question Number : 135 Question Id : 8024371035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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An experiment was performed to introduce a transgenic trait in a crop
plant by Agrobacterium — mediated transformation using a transgene
construct in which the transgene was expressed using the CaMV 35S
promoter. It was observed that expression levels of the transgenic
protein were very low in all transgenic plants while transgene mRNA
levels were high and variable among different plants. Further, different
transgenic lines contained different numbers of the T-DNA insert. The
following statements were made to explain the above observation:

A. Variations in the number of T-DNA inserts in different transgenic
plants is due to more number of host cells getting infected with the
T-DNA

B. Low expression levels of the transgenic protein in all transgenic
plants could be due to codon usage variations between the host
plant and the heterologous source of the transgene

C. The coding sequence of the transgene contained sequences that
destabilized the transgene mRNA

D. Variation in copy number of T-DNA in different transgenic plants is
due to variation in the promoter used to express the transgene.
Which one of the following options represents all correct

statemenis?

Options :

A only
8024374137,

BandC
8024374138.

AandD
8024374139.
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B only
8024374140.

Question Number : 135 Question Id : 8024371035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T TTLSHA TaAT (s TS #if Jra=ai=n 7% CaMV 35S S=T=% FT7
FET 2, THET SUAN F4F UF TESA[ F909F A UF FATAT G0 OH
TATS A ] FEAeT a0 & 5] THIE5E F20q & (o0 T T3 a7
T g =T T B as aresiEr 9t § s S # Stqer e agd
FH AT sratE =TS oref § Tesi=t mRNA FT 597 999 797 T Fa+1T 47|
T, At arestAr F9m § T-DNA fRaes 7 5231 @ g1 S
HTATHA ol =ATEAT T % 70 (58 F9F TA10 T4

A. TSt gret | T-DNA fRaem &t s dwar g &1 Fwreor ot

FITITRTAT T A2 Fzar 71 T-DNA & FhHT gl ST 3

B. &Y TTESOHT A& § TIS(AT TIEIA & ATH=ATE #97 % FH g+ &7
FTLOT TLATHT TV TAT TS % (TSI S0 % 8 =9 The AqaanT
TS 7 M7 2

C. TTTSHIA % T2 A7 H § UH SqwH ¢ ol 1% g1+t mRNA %7 7w
F2aT 2|

D. A= Tt 94t # T-DNA & 9% d T4 § {9741 &7 F177
TSI & ATH=AFT Fod & (0 STANT 5607 T G195 J T9~4aT 2

et et & 7 Fi9 o7 vF AweT a9t T8 FO9/F09T T 590797 272
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Options :

T A
8024374137.

BaarC
8024374138.

ATarD
8024374139,

F9 B
8024374140.

Question Number : 136 Question Id : 8024371036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are a few statements related to biological principles

and/or techniques:

A. Genetic diversity plays an important role in the identification of
combiners for heterosis breeding

B. Genotyping by sequencing (GBS) can be used to identify allelic
diversity but is not useful for construction of linkage maps.

C. Genome editing by sequence specific nucleases (SSNs) in the
presence of guide RNAs would result in NHEJ-mediated knock
outs and loss of function mutations.

D. In a comparison of synteny and colinearity between diploid and
polyploid plant genomes, colinearity is high but synteny is low.

Which one of the following options represents all correct statements?

Options :

Pathfinder Academy
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A and C only
8024374141,

B and D only
8024374142.

A CandD
8024374143,

B only
8024374144

Question Number : 136 Question Id : 8024371036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T:
A. TFTAST TAAT F ALFTHT 6 Tg=T9 & (o7 gaiors FfEaear vs

TEEA T e (T g

B. ATFHA FT AATETIH7 (GBS) FT ST Tl A T=&dT &l
TEATHA & (T 56T ST 7T £, 79 98 FgenAdal i § HEr H
STARET 72T 2

C. #TrEeT® RNAs #if Sueafa § aqwd =97 =iFans (SSNs) 59T A+
FITEA T Te0H NHEJ-He7# FeA 947 a7 seaadd 2

D. f2arfora o srgariorg orei & FSiiat & A= et ag7 FA =12y H1
TF TAAT H, FIATHATAT 359 g (eedl =4F 21T 2l
AT Fi a1 vE FweT a6t T w1 w1 39ar 22
Options :
so24374141, TAAGATITC
Faa B 4T D
8024374142.
A CTarD
8024374143.
F9 B
8024374144.
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Question Number : 137 Question Id : 8024371037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are some terms in column A and their corresponding
properties/related terms in column B

Column A Column B
A | Bulk segregant (i) | QTL analysis of wider genetic
analysis diversity using fewer individuals

B | NILs (i) | Mapping monogenic qualitative
trails

C | Association mapping | (iii) | Co-dominant markers

D | SNPs (iv) | Repeated backcrossing of F1 to
recurrent parent

Which one of the following options represents the most appropriate
match between all terms of column A and B?

Options :
ranaras A= ([ B=(iv): C = (i); D~ iii
A — (ii); B = (i); C = (iv): D = (ii)
8024374146.
A — (iv): B — (iii): C = (ii); D = (i)
8024374147.
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A — (iii); B = (iv): C = (i); D — (i)
8024374148.

Question Number : 137 Question Id : 8024371037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H = FAT A H T 9758 TAT IAF AT [O/ASTT 9755 Fiew B H T £

FIAH A FTeH B
A ﬁ_"ﬂ_’r W‘{’TPWFT (i) T ST &7 STI0T 595 =795
ECEER AT 19T TET=ear &1 QTL FHeeraor
B | NILs (ii) TS AT U0 vkl &1 JT ==
C | ATEA= AT | (jijy | FETHTET Heh
D | SNPs (iv) | F1 & sass STl &1 Taerged qaia

e et § 7 #19 a7 0% [=S&eT Fiaq A T47 B & 9=&1 &% 1= #7
T e gormar 272
Options :

A — (ii); B = (iv); C = (i); D - (iii)
8024374145.
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A — (iii); B = (i); C = (iv); D = (ii)

8024374146.
8024374147, A — (iv); B = (iii); C = (ii); D = (i)

&= =) G~ (10—
8024374148,

Question Number : 138 Question Id : 8024371038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is true with regard to drug
metabolism?

Options :
The therapeutic window is simply the range of plasma drug
concentrations in which the drug has therapeutic benefits without
causing extra safety risks due to drug toxicity.

8024374149.
Each individual drug molecule is metabolized by a specific drug-
metabolizing enzyme that is dedicated to metabolism of that drug.

8024374150.
An ultrafast metabolizer is a person who metabolizes a drug too
quickly and is at a risk of drug overdose

8024374151.
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8024374152.

A poor metabolizer is a person who cannot metabolize a drug
properly and faces risk of underdose.

Question Number : 138 Question Id : 8024371038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ST TITTAT & A5 H HEAT00T HiF 77 TF FF7 77 27

Options :

8024374149.

8024374150.

8024374151.

8024374152.

Pathfinder Academy

HIThe s FTT AT AT “ATSHT STITE T15AT FT UF [=5eq17 g oaH
ST TEOTFAaT F F0 29 AT AT qOT ST & =57 SO |

e AT9 Z4T 2

T AT St &1 s v = stafe-sarr=edt vemea g
grar g 5 5 ST efrafer & srr=e F o awite g 2

FiA-A 1T STTTFTT Jg =16 2IaT g Sl 16 U Aqrey Ay daar =

SUTTH AT FOAT g TAT ST ATEHTAT & FTEH ¢ 7247 2
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Question Number : 139 Question Id : 8024371039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gene therapy is a promising tool for addressing several diseases in
humans. With respect to the above, which one of the following
statements is FALSE?

Options :
Gene therapy involves the direct genetic modification of the
cells/model to achieve a therapeutic goal.
8024374153,
Current gene therapy is directed at modifying somatic cells.
8024374154,
The only successful gene therapies are those in which cells are
removed from a patient, genetically modified, and then
reintroduced into patients.
8024374155,
Recessively inherited disorders are good targets for gene therapy.
8024374156.

Question Number : 139 Question Id : 8024371039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S =TT 99 § 99% T # G979 STI1 & o7 U5 9= =ie
2| SULIET % A5 |, HEIET &9 A7 TF HF9 Toq 27

Options :

Pathfinder Academy
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H T T ATTATF TeaaT HeAT AR 2T 2

8024374153.

TAATH S (AT | FTAE HIRTAT F AT FHeAT O7H 2

8024374154.

STAT &, ATAAT9 Tad (o617 ATq g TAT e T § I .57
T ST 2l

8024374155.

FAATHT FHTT =y o et & ™0 9= @27 2l

8024374156.

Question Number : 140 Question Id : 8024371040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy
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A researcher intends to stimulate neurons via glutamate receptors in
medial septum of an experimental animal. The following apparatus/
instruments are available in the laboratory:

Stereotaxic apparatus

Slow perfusion pump

Microcannula

Radiofrequency lesion maker

Electrical stimulator

Nichrome coated bipolar steel electrode

JE TS0 L0 2

Which one of the following options contains all the correct items
required for the experiment?

Options :

A and B only
8024374157.

A BandC
8024374158

D and E only
8024374159.

D E and F
8024374160.

Question Number : 140 Question Id : 8024371040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T QITEIFAT U5 TTATRE Svq % FEAaa] T2 § Fea 0l 1 TZTHE TTeAT F
FT9T G2 FeAT FATEAT 2| TAWLTAT | W10 STHeoT/35 39 2

. E-TgEsE T97

qTZH ]

h Hﬁﬂﬁ'ﬁﬁﬁﬂ'%ﬂﬁmﬁm 'itjlq"]xﬂ'

-

T | & I a7 UF =T T T F o0 a6y a2 J0ei #7 amHa
FIAT 27

Mmoo w P

Options :
T A 74T B
8024374157.

A BTarC
8024374158.

Faa D 94T E
8024374159.

D, ETATF
8024374160.

Pathfinder Academy
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Question Number : 141 Question Id : 8024371041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are statements related to various molecular techniques

A. During molecular cloning of DNA fragments, a vector and insert
molecule digested with two different enzymes can never be ligated
with each other.

B. Only 3’ - 5’ exonucleases and not 5' — 3’ exonucleases can be
used for digesting nucleic acids to generate blunt-ended fragments
for cloning.

C. In Sanger’s dideoxy sequencing method, each reaction consists of
a mixture of three dNTPs and one ddNTP.

D. Self-ligation of a vector with compatible ends can be prevented by
treatment with alkaline phosphatase.

Which one of the following options represents a combination of correct
statements?
Options :

8024374161. BandC

8024374162. AandD

Cand D
8024374163,

AandB
8024374164,

Pathfinder Academy
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Question Number : 141 Question Id : 8024371041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a3 oo ST a1 & 959 4 g FAT A= (U AU g

A. DNA TSt & IS5 FAET & 21979 &7 ST TAIHT o T UF
TATEH TAT TARHT A9 1 TF 7 7 HH[ AT FIST 721 AT T5HAT 2

B. FATHA & 10 AATAST (4T TFT AUST Hl IoT7H Feed & (1T =IFATH
FEAT FT FaA 3 = 5 TFAFATA FT F 36 57 - 3/ TFArg s &
= % 1T ST AT AT AT 2

C. #1917 F SRS AT AqFHAT THA 7, TeA® A4t 7 417 dNTPs
4T T ddNTP =T =remt=e 2T 2
D. UF HATEH FT AT (471 7 TASTT Tl TewheTed HIEhHad & SIAT &

TTT ST AT 2
et & 7 #ra °1 v Fwer 7 725 F497 w5 w= 0T wear g2

Options :

Ba4r C
8024374161.

ATar D
8024374162.

CaarD
8024374163.

ATIT B
8024374164.

Pathfinder Academy
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Question Number : 142 Question Id : 8024371042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are four DNA sequences and a set of forward and
reverse primers for PCR amplification.

Sequence Primes
A |5 -ACAATCGT....ACTAGTAC -3’ FP: 5’-TGTTAG-3
RP: 5-TAGTAC-3'
B |5 -AGTCTTAG....ATGCCAGT -3’ FP: 5-AAGACT-3'

RP: 5’-ACTGGC-3’
C |9"-CITGACTA....GTACAGICA—3 FE: 5S-CTITGAC-3
RP: 5-TGACTG-3
D |5 =GATCTAGC.... TCAAGCAGAC-3" | FP: 5'-GATCTA-3'
RP: 5’-CAGACG-3

In the absence of any other factors such as (but not restricted to) Tm,
length, percent GC, etc., which one of the above template-primers
combinations would produce an amplified fragment?

Options :
Both Aand C
8024374165.
B only
8024374166.

Pathfinder Academy
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Both C and D
8024374167.

C only
8024374168.

Question Number : 142 Question Id : 8024371042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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== =17 DNA &A1 947 S T8 IohH ST 31 A11=41 PCR T4+
& forT &= = 21

Sequence Primes
A |5 -ACAATCGT.... ACTAGTAC -3 FP: 5-TGTTAG-3'
RP: 5-TAGTAC-3'
B |5 -AGTCTTAG....ATGCCAGT -3’ FP: 5-AAGACT-3'
RP: 5-ACTGGC-3’
C |5 -CTTGACTA....GTACAGTCA-3 FP: 5-CTTGAC-3’
RP: 5-TGACTG-3'
D |5 -GATCTAGC....TCAAGCAGAC-3' | FP: 5-GATCTA-3'
RP: 5-CAGACG-3

ToelT THY a1 S 9 (T90q 39 a9 J1HT 7g1) Tm, @978, GC WiaerT
TATS, 1 Fquteata § M= d § & F19 F UF TA-STRHG] 0] A1 76
AT TS T SeITIaT FoA1?

Options :

A T49T C =T
8024374165.

Pathfinder Academy
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8024374166.

C 4T D =T
8024374167.

FTT C
8024374168.

Question Number : 143 Question Id : 8024371043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A field biologist is sampling tree species in a forest area to estimate tree
diversity. What method can be employed to decide if his sampling effort
is adequate to estimate the tree diversity in the area?

Options :
Quadrat method of sampling
8024374169.
Saturation using species accumulation curves
8024374170.
Frequency distributions
8024374171.
Jaccard's dissimilarity coefficient
8024374172.

Pathfinder Academy
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Question Number : 143 Question Id : 8024371043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T FeAAT | LT AT ATHAT FT AFAT FIA & T U AT T AT AT
U A A gl g REm s s o s ax d 390
fafseaT = ampere & o S=sriee &7 F937 99 F7 99" =i g ®iA | Aty
FT TR (AT ST FHar 272

Options :

THAT A FT FATSE (T Arferawr) Ffer
8024374169.

8024374170.

EICIEAELER

8024374171.

FHTE T AAHTAAT 0
8024374172,

Question Number : 144 Question Id : 8024371044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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For a given immunological application [column X], select the type of
antibody [column Y] that should be used:

Column X Column Y
A | Bacterial agglutination i Only monoclonal
B | Western blotting i | Only polyclonal
C | Detection of a cytokine iii | Either monoclonal or
using a solid phase ELISA polyclonal
D | Diagnostic tissue typing

Choose the option with correct matches between terms of Columns X

and Y.
Options :
A=l B=i;C=iii; D=1
8024374173.
A-iii;B=iii; C=1; D =1
8024374174.
A-ii;B-ii;C-i;D-1i
8024374175.
A-i;B-ii;C—-i: D-ii
8024374176.

Question Number : 144 Question Id : 8024371044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T & T G TS+t AGaanT [Fiaq X] |, A7l F 967 [F1aq Y]
FT FAF Fv, AT STANT AT AT

Fiad X Frad Y
A | ST T i | e T
B | FEE AT i | T IgE
C | = 9=e4T ELISA #T STHRT &7 | iii | 77 AT TFaaA =1 o=t
T HTZETHTeA & AT TgEFT
D | ASTHE Ta® T=I0

FIAH X TAT Y % 95&( & 19 Agl A9 [G@T" aTef (=hed & 999 T

Options :

A-ii;B=-i;C—=iii; D-i
8024374173.

A-iii;B=iii; C=1; D =1
8024374174.

A-ii;B=ii;C-1;D -1
8024374175.

A-i;B-ii;C-i;D=ii
8024374176.

Pathfinder Academy
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Question Number : 145 Question Id : 8024371045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i) Positive skew

i) Negative skew

In the two graphs given above, what do a, b and c refer to:

Options :

a = mean, b = median, ¢ = mode
8024374177.

a = median, b = mode, ¢ = mean
8024374178.

a = mode, b = median, ¢ = mean
8024374179.

a = mean, b = mode, ¢ = median
8024374180.

Pathfinder Academy
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Question Number : 145 Question Id : 8024371045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i) Positive skew

i) Negative skew

ST TS0 W0 &7 ST (ATh) |, a, b TAT ¢ FEET T FEar 22

Options :

a = ATET, b = HIEAFT, ¢ = IgAF
8024374177.

a=mﬁw‘rl,b=a=—m T, C = HTET
8024374178.

a = aga®, b = TIfEA%T, ¢ = AT
8024374179.

a = ®T<T, b = T, ¢ = AETHT
8024374180.

Pathfinder Academy
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